QT of|Qett wan, 4104 [Gseqiuiell 2d] wis(d uds 5203 3 usl Rle @)l @i 4l 25t (s5d oil-il

URHEL (rotation)=1l w41H13)

Ans #1. 2
X2 3
X3 1
X4 4

1 2 3. 4.

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653121
6306802556923
6306802556924
6306802556922
6306802556925
Answered

1

Q2 apiiel]l 56 o 2115(d (Venn diagrams) HIRd, HERIY 21 «{1R1S 422 A% AciY ¢21(q 97

Ans 5 1 OO

O
@
o 3. @

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

630680653173

6306802557131
6306802557130
6306802557133
6306802557132

: Answered
Chosen Option :

3




Q.3

o1 QeAl WML UL WA Aol 12 w106 1 3 2 4] e21ide] A (Aeieloll AH1921 a2l &, GReIRIN W sl
52l 8% (e Al g ] 20Ad] H[Ed] wstell died 2udHR Y2l % 30

st clef, (deql, lef, 2 [Gel 2ol Alepiel], w13 el @osl UHISL el SHUI6adMl M19, AT 211 el
Al sl 82

[qgl-l:
1. 6dlof 2 o] el Al 52l A=Al I3 B e [0l 52l 201e8] @113 D 3 Alell o112 A=l

2.l HIA def Sl ®R B,

Ans -
X1 [aylel 1 wag) [adls 2 ydld &
X2 of dl (Qulel 15 o dl (Adlel 2 UdH 2]
v 3 (aylet 1 359 udlH & R (qulel 2 W s uAlH <ol
X o [qulel 2 Wsq uAlH B 23 (Al 1 Wsg udlH el
Question ID : 630680653176
Option 11D : 6306802557144
Option 2 ID : 6306802557145
Option 3 ID : 6306802557142
Option 4 ID : 6306802557143
Status : Answered
Chosen Option : 3
Q.4 Al Slesui 2ld ([QauellA ulami o oel-ogel (@M Raddl gl 2s1qidl ealldl 8.
The numbers in the brackets give the Maximum marks in Each
Subject
Subject (Max. Marks)
Student | Maths | Commerce | Physics | GK | History | Computer
Science
(100) | (100) (100) [(100y| (100) | (100
Arushi 90 80 90 80 90 84
Aman 100 88 80 90 80 86
Sandy 90 90 90 85 90 80
Ronit 80 83 90 88 80 90
Meenu 920 95 929 95 99 100
Tanu 93 82 85 89 90 80
Tanuj 05 85 90 97 80 89
e6] - The numbers in the Brackets give the Maximum Marks in Each Subject - SI2H1 w061 241551 €25
(anaui HedH 2l widld 8, Subject (Max.Marks)- (any (HedH IRD, Max. Mark — HietlH 2|83l Maths- JL[E’.ld,
Commerce — L[ (S1H), Physic —efl[ds2U1E, GK- UIHIASlt (B3), History — S[dEIH, Computer Science -
512422 UL, Student- [AALL] Arushi- wi12M], Aman- 24, Sandy-2<5], Ronit-2[4d, Meenu-Hl=, Tanu-
e, Tanuj- d=4%)
GUSd 51R5eAl 1813, WD WsHIE dH M [@2H] Daddl 56 et 2s1a1dl a1eR) sedl 87
Ans X' 1. 83.4 %
v 2 856 %
X3 845%
X 4 865 %

Question ID : 630680653200
Option 11D : 6306802557241
Option 2 ID : 6306802557239
Option 3 1D : 6306802557238
Option 4 ID : 6306802557240
Status : Answered
Chosen Option : 2




Q5 oAl [Qsenul wRd] wislduiuiel, 1d] w415(d4 uzie 5203 BHL s w11s[d oo wuifdl 234l embed)
Sy,

1 [l KK

Ans o 1 A

Question ID : 630680653153
Option 1 1D : 6306802557053
Option 2 ID : 6306802557050
Option 3 1D : 6306802557052
Option 4 ID : 6306802557051
Status : Answered
Chosen Option : 4

Q6 oflp-rs Q=" R="x"AS ="+ &Y, dl 412 w4 ugeladle] yey gf 912
15R4Q8P6S3
Ans X 1. 50
X2 42
X 3. 48
« 4 54

Question ID : 630680653189
Option 1 ID : 6306802557196
Option 2 ID : 6306802557194
Option 3 ID : 6306802557195
Option 4 ID : 6306802557197
Status : Answered
Chosen Option : 4




Q.7

o1 w e [asailuiel 56 %1S] 1A w10l Y [da 11l B2

178: 871
Ans  x1.339:393
X 2. 6b4d: 464
&3 655:556
X 4152 :521
Question ID : 630680653195
Option 1 ID : 6306802557220
Option 2 ID : 6306802557219
Option 3 ID : 6306802557221
Option 4 ID : 6306802557218
Status : Answered
Chosen Option : 3
Q.8 |31l [Asel 0] 2h15(dudmie]l, Wl w1s(dA Urle 5315 FHL vl w1s(d 0o YUl 236l embed)
€l
X, 1 3. 4,
Ans s 4
X 21
X3 3
x4 2
Question ID : 630680653152
Option 11D : 6306802557046
Option 2 ID : 6306802557049
Option 31D : 6306802557047
Option 4 ID : 6306802557048
Status : Answered
Chosen Option: 1
Q.9 wyofl ugef o Sl X ofl viel o Sl y el el Sl w7 oL 21+ Q1 dl <l w010 ugladle] yeu 9] edl?
2Y5W8X2272=?
Ans X 1. o
X210
3 7
K48
Question ID : 630680653127
Option 11D : 6306802556948
Option 2 ID : 6306802556949
Option 3 ID : 6306802556946
Option 4 ID : 6306802556947
Status : Answered
Chosen Option: 3




Q.10 {911 Slwsul ld [@arleffall ulaiml o ogel-gel [yl Nadedl ael-l 2s1aidl celldl 8.

The numbers in the brackets give the Maximum marks in Each
Subject
Subject (Max. Marks)

Student | Maths | Commerce | Physics | GK | History | Computer
Science
(100) (100) (100) | (100) | (100) (100)
Arushi 90 80 90 80 90 84
Aman 100 88 80 90 80 86
Sandy 90 90 90 85 90 80
Ronit 80 85 90 88 80 90
Meenu 90 95 99 95 99 100
Tanu 93 32 85 89 90 80
Tanuj 95 85 90 97 80 89

(e8] - The numbers in the Brackets give the Maximum Marks in Each Subject - S[3M1 2106l 24155] £35
(AN Hedu JLl uldld 8, Subject (Max.Marks)- fany (HETH LRI, Max. Mark — HedH 23l Maths- Jlr‘:",k‘l,
Commerce — Ql@%’-{(éﬂll%{), Physic 70{1[(‘13%%1, GK- HIHIStlA (99%), History — E)[aéLH, Computer Science -
112422 UL, Student- [AH1L] Arushi- 212N], Aman- 2441, Sandy-A=5S], Ronit-2(-ld, Meenu-ls, Tanu-
e, Tanuj- d={%)

Builsd Slesell wUE L3, elldsausEml did [@aeley Rndd #3198l @allel vl 2 v1s ydll dua
Ledl &2

Ans  X1.89.89 %
X29119%
3. 89.14 %

X 4.93.00%

Question ID : 630680653169
Option 1 ID : 6306802557114
Option 2 ID : 6306802557115
Option 3 ID : 6306802557117
Option 4 ID : 6306802557116
Status : Answered
Chosen Option: 3

Q1T o] 2el sl uat iel dof] of[2 2401 1 21 2 izl £21lddL & (Gulelloll qHIA2L &l 8. GREdIRIV 2] «i55]
50le] 8% [ArteAl] wrua il w1Ae] Hilfedl ugtstl wscie Windr HER v H 3 3,

U Urllef] MMl R 1401, (eed, 2lsf el [Ea121 o Hetl 2l VeS| admiel] 2ol dpilelz sl de
(GEIEIE

1. 6121 UMel-fl 2410 Q61 8,

2. [o1eg 240 f] 2rmsll ey 214 (€A1l stedl wi @8l 8.

X1 [adlet 2 W59 udlH B 2R (qule 1 2156 Uy -l
X2 (Al 1 054 uAlH & 213 [Adls 2 Wsq yaly =l

v sidl(adled 1% sl dl [Quled 2 iy A9
X4 [qylel 1 W [QYle 2 o UAH &

Ans

Question ID : 630680653177
Option 1 1D : 6306802557147
Option 2 ID : 6306802557146
Option 31D : 6306802557149
Option 4 1D : 6306802557148
Status : Answered
Chosen Option : 3




Q.12 g ([GuidE) wa diREN siagyds aidl qiZl dsul Y [Quieinl sidd i 2086] HilEdl 2l 8, 18 d
Ui LA Aeldl eslsdlefl [Ha Sl ag qiig S1Y, dl «1ssl 5303 [@uisi@imiel sl diel U] 53

Ans

dARRL d1f5s Td w2 B,

GETEE

U el ailfaH 8.

ol qLl(Eel dwdl B,

dlRell:

1. el deyel] q1(Cef B,

2. dH ellf=tsl dwal 8.

X1 HIA dRBLT W AR 8

X2 ol dRLT e 2 Y3 B

X3 oAddldRRI1T S dldRBL2 WAUI D
¢4 HIA dRBL2 Wed3 B

Question ID : 630680653145
Option 1 ID : 6306802557018
Option 2 ID : 6306802557021
Option 31D : 6306802557020
Option 4 ID : 6306802557019
Status : Answered
Chosen Option : 4
Q.13 yjl(d [RiR101 sl GHmi {12l B. 2ildl 12191 sl «llefl & 2 Wl vld sl D12l 8. d) duetimiel Aleil
Alofdlel) 5131 7
Ans

v 1 Aldl

X2 [0

R VEILN

x4 fl(d
Question ID : 630680653118
Option 1 ID : 6306802556910
Option 2 ID : 6306802556913
Option 3 ID : 6306802556912
Option 4 ID : 6306802556911

Status : Answered

Chosen Option :

1




Q.14 =] g1a) ysd €14 il A1 v ellelSlell WEal Gualal s34 12 2106 Asfld diEs {d yel sl
HI2 Ut (& (7)ol o012 9] w1agl?

57,50, 47, 40, 37,77

Ans 1. 40, 33

X 2. 33,40
X 327,30
w4 30,27
Question ID : 630680653192
Option 1 ID : 6306802557206
Option 2 ID : 6306802557207
Option 31D : 6306802557208
Option 4 ID : 6306802557209
Status : Answered
Chosen Option : 4
Q.15 .
(WA 9ledl 4211 L] Uertlotl Arzlell Uedlell (UA21 2418 9] Aoiy &2
Ans 1 Ul
X2 AlY
X 3. E‘J. 5 i)r.]_
x4 Yd
Question ID : 630680653171
Option 1 ID : 6306802557122
Option 2 ID : 6306802557124
Option 3 ID : 6306802557125
Option 4 ID : 6306802557123
Status : Answered
Chosen Option: 1




Q16 f19q41 [qsedui wiRd] wiisfdaimiel ¢ wisld ue wislds 11 uldio s

Question Figure: Answer Figures:

D

=

D

@E =

M

(2

(3)

4

(HE.G{— Question Figure — U4 11{[5[;1, Answer Figures- %QIU{("EC{LUH) h{l{s[&)

Ans X 1. )
V2 4
X3 1
X4 3
Question ID : 630680653154
Option 1 ID : 6306802557055
Option 2 ID : 6306802557057
Option 3 ID : 6306802557054
Option 4 ID : 6306802557056
Status : Answered
Chosen Option : 2
Q17 flaei el 56 Aot 2418[cl (Venn diagrams) Aws, [4[dl 244 STs22 G By Aaly £21[a H2
Ans
X 1.
v % O
" O
x 4. @
Question ID : 630680653174
Option 1 ID : 6306802557136
Option 2 ID : 6306802557135
Option 3 ID : 6306802557134
Option 4 ID : 6306802557137
Status : Answered

Chosen Option :

1




Q18 |eimlef] s (A5eU o1 WG 2415[d X H1 YA [RlGe] 2ellot A (A22Uetefl Hogdl o1efl)

N B @ O

-3

Ans X1 3
X2 1
3. 4
X4 2
Question ID : 630680653150
Option 1 ID : 6306802557040
Option 2 ID : 6306802557038
Option 3 ID : 6306802557041
Option 4 ID : 6306802557039
Status : Answered
Chosen Option: 3
Q19 of) 5 of] wief (x), T ell Wl (=), U ol 28] (+) el v oll 2] (+) 12, ) -2 Qe ygladle] yeu 9] 6917
(125U5)V(18$ 4)
Ans 1. a7
X2 99
X3 93
X490
Question ID : 630680653188
Option 1 ID : 6306802557192
Option 2 ID : 6306802557193
Option 3 ID : 6306802557191
Option 4 ID : 6306802557190
Status : Answered
Chosen Option : 2
Q.20 opyj g1o] usd €1 i, AL 2 eile1Slell wlsal- Gualal sl <12 4] Aulla diEs {d ysl s2al
2 Wl R (2)edl oou 12 9] w1adly
33,28, 39, 34, 45,77
Ans 1 40, 51
X 2. 46, 35
X< 351,40
X 4 35, 46
Question ID : 630680653190
Option 1 ID : 6306802557198
Option 2 ID : 6306802557201
Option 3 ID : 6306802557199
Option 4 ID : 6306802557200
Status : Answered
Chosen Option : 1




Q.21 o g ofl e sy, # ofl el Sl @ ol el 5 1Y, % oll el v 1Y, ol o{12 w10 ysladls] yeu g

&dl?
5#3*%10@5$2 =7
Ans X113
X2 14
X316
w415

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

630680653126
6306802556942
6306802556943
6306802556945
6306802556944
Answered

4

Q.22 adletl 9of WA e, B €19, US S1A el WU, ol Aediuie]] 565 18] 1A w1l U (cla ALt B2

100: 169

Ans X 1.123: 210
X2 81:102
x3.190:288
4 196: 289

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653164
6306802557097
6306802557095
6306802557094
6306802557096
Answered

4




Q.23 101 usidl U wA defl {12 201 1 w4 2 Aeul e21[adl A (Gulel-l AH1A2L L1y B, GRedRIN 2 55

53] B 3 [Qelellil g T 2] HI[EA] watell e sl 12 udlH 8 3 30

ugl: il ElRueau Bedl uledl Sisedl Nisex 53 B2

[GETEAE

1. w1621 2@aR{lu) £ls Ws Sise §.

2. 635 415Ul 12 1S & gul 18-l vl g2d] ulsdl slsel B.

Ans

X1 [Qulel 1 wag) [adls 2 ydld &
X2 [qyle 1 W [QYled 2 ol uAH &

v 3 (aylet 2 W 5q uAlH & R (qulel 1 w59 uAlH <ol
X 4 [Qulel 1 315G ualH & 23 [Adlet 2 Wsg udlH el

Question ID : 630680653163
Option 1 ID : 6306802557093
Option 2 ID : 6306802557092
Option 31D : 6306802557091
Option 4 ID : 6306802557090
Status : Answered
Chosen Option : 3
Q24 1941 (qsedul w106 wis(d2Hiell 565 2115(d ug 2415(de] A1) wld o] 912
Question Figure : Answer Figures :
(1) (2) (3) (4)
(%'IE.Q{— Question Figure — U4l U{l;’g[&, Answer Figures- %QLU{(%‘CIIUﬂ} Ml{s[&)
Ans X1 4
X2 3
X3 1
4 D
Question ID : 630680653125
Option 1 ID : 6306802556941
Option 2 ID : 6306802556940
Option 3 ID : 6306802556938
Option 4 ID : 6306802556939
Status : Answered

Chosen Option : 4




Q.25 12 w0l [asalliie]l 56 18] 55 wldeiont Aua ) wa qHetl sHaAL 3 H 3 13 240 e [da ALt B2

19:23

Ans  X1.83:76
2 29:31
X3.97:100
X 4.59:64

Question ID : 630680653197
Option 1 1D : 6306802557228
Option 2 ID : 6306802557226
Option 3 1D : 6306802557229
Option 4 ID : 6306802557227
Status : Answered
Chosen Option : 2

Q26 [ Uell 5361 1121 B. Aol (sl sl wllefl B. w2 48] s2cdL 112l B B Uedl sl edleil B.
(aysfl w1 sl wll=dl B. dl Auedl az el H12] calsd slal &2

vl
X2 qs]
X3 foysdl
X4 Yl
Question ID : 630680653148
Option 1 ID : 6306802557030
Option 2 ID : 6306802557033
Option 3 ID : 6306802557032
Option 4 ID : 6306802557031
Status : Answered
Chosen Option : 4
W2 el [cletl LS4l [ctlell A 218 9] dold &2
X0 (Ul
X2 LY
v 3 Uds elel
X4 Uds Uld

Question ID : 630680653112
Option 11D : 6306802556886
Option 2 ID : 6306802556888
Option 3 1D : 6306802556889
Option 4 ID : 6306802556887
Status : Answered
Chosen Option: 3




Q.28 {31 Slesul wid (Qareiluqi ulaiml o ysl-ogel [dxiiul Dadel el esiail saildl &,

The numbers in the brackets give the Maximum marks in Each
Subject
Subject (Max. Marks)
Student | Maths | Commerce | Physics | GK | History | Computer

Science

(100) | (100) (100) [(100y| (100) | (100)
Arushi | 90 80 90 80 20 84
Aman | 100 88 80 90 80 86
Sandy 90 90 90 83 90 80
Ronit 80 85 20 88 80 90
Meenu | 90 95 99 95 99 100
Tanu 93 82 85 89 90 80
Tanuj 95 85 90 97 80 89

(el - The numbers in the Brackets give the Maximum Marks in Each Subject - STHM[ w106l wisS1 €35
(LML HSTH )L A B, Subject (Max.Marks)- [N (HETH 8L, Max. Mark — H&tiH 2L, Maths- L[3ld,
Commerce — Al [BEri(S1H), Physic —6Il (5211, GK- AUIH ISt (3), History — S[d&lH, Computer Science -
12422 UL, Student- (A4 Arushi- wi12N], Aman- 21+, Sandy-25], Ronit-2L-Ad, Meenu-Hls, Tanu-
s, Tanuj- d=%)

(UL S1Esetl WIEI2, Ald [QaEAl glR1 6K (XU Radd 13U 2081 123) k26l §7
Ans 7 1.89.14 %

X2 89 %

X3 9114 %

X4 93 %

Question ID : 630680653199
Option 1 ID : 6306802557237
Option 2 ID : 6306802557234
Option 3 ID : 6306802557235
Option 4 ID : 6306802557236
Status : Answered
Chosen Option: 1

Q.29 o] g1a) usd €14 cdl, A1 vl ellediSleil WlEa1-0 Guanal s34 13 2006 Al diEs {ld yel sl
HI2 ust (& (2)efl 2ou 1 9] wiagly

1,48, 60,67, 79,7
Ans > 1.0, 78
X 2. 98, 86
v 3. 86,98
X 4. 78,90

Question ID : 630680653191
Option 11D : 6306802557202
Option 2 ID : 6306802557205
Option 31D : 6306802557204
Option 4 ID : 6306802557203
Status : Answered
Chosen Option : 3




Q.30

o1 w e [asailuiel 56 %1S] 1A w10l Y [da 11l B2

Chosen Option :

148 ; 841
Ans X 1. 264: 426
o 2. 345 : 543
<3 115:151
X 4.339: 393
Question ID : 630680653165
Option 1 ID : 6306802557099
Option 2 ID : 6306802557101
Option 3 ID : 6306802557098
Option 4 ID : 6306802557100
Status : Answered
Chosen Option : 2
Q.31 o) Adfl GIULE Bell QIULE S2dll 6% ay S, d) A-il GIRUY s2dl Bl GluULE Bedl esl a8l B2
Ans X 1. 4.55%
X 2. (%
X3 7%
« 4. 5.66%
Question ID : 630680653211
Option 11D : 6306802557284
Option 2 ID : 6306802557283
Option 3 ID : 6306802557285
Option 4 ID : 6306802557282
Status : Not Answered
Chosen Option : --
Q.32 g5 512yl s2q1 HIZ, HetH Ll 6 (£ el 221124 8 (£l AU @13l 8. w1 512 5291 HI2 U I W
Q1013 24500 dlHl Sdl. wUR w2 dH-l A8 1SN AR 51 3 (eauul & Ay eq, wla Bed] 254
Ysaql wid] edlz
Ans - X 1. %670
X2 3570
X3 3640
« 4 3600
Question ID : 630680653220
Option 11D : 6306802557321
Option 2 ID : 6306802557318
Option 3 ID : 6306802557320
Option 4 ID : 6306802557319
Status : Not Answered




Ans

A 1. 56 km
X 2. 48 km
¥ 3 24 km
X 420 km

Q.33 35 (5 24 kmphedl #SU 204 HRS 1551 2t 512 213 5 kmphell #5U AlElA ud 521 %1 21wl
UAHIEIHI 5 5615 48 (M2l qH 20l S14, dl 2id2 20,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

630680653251
6306802557442
6306802557443
6306802557444
6306802557445
. Answered

12

2181ef 2l 324l B A 2ildl?

Q.34 35 2i5l-0 2 eyo wieilel el &, i3 36 [Gez wieil wislz sladiHi 2418 8 AR A vid] ud o511 8. dl d

Chosen Option :

Ans
X1 180 [Ge
X2 72 [de2
V3 90 [qer
X4 144 (922
Question ID : 630680653268
Option 11D : 6306802557513
Option 2 ID : 6306802557512
Option 31D : 6306802557510
Option 4 ID : 6306802557511
Status : Answered
Chosen Option : 3
Q.35 310 S3el €16 . 340011 €3 20 Sl WUSSL WAL AL AUl £354 2 33411 £3 Q) €lul. AR B26ll 251 5] &)
&dl?
Ans 1. 16.48%
X 2.12.50%
< 3. 9.8%
X4 18%
Question ID : 630680653243
Option 11D : 6306802557413
Option 2 ID : 6306802557412
Option 3 ID : 6306802557411
Option 4 ID : 6306802557410
Status : Answered

1




Q36 g qsetetl ASI-] [F21l 84 cm B, TS 5 As=SHI 10 2121 §2 B. dl=tsfl »SU B.
Ans X 1. 41.04 kmph

« 2. 38.02 kmph
X 3. 29.08 kmph

X 4. 36.5 kmph
Question ID : 630680653222
Option 1 ID : 6306802557329
Option 2 ID : 6306802557328
Option 3 ID : 6306802557326
Option 4 ID : 6306802557327
Status : Not Answered
Chosen Option : --
Q.37 . .
of | A 11el] 56 15| wiaetio Hualed] 1Sl § d 204l
Ans 1. (191,193)
X 2 (199,211)
X3 (173,179)
X 4 (181,197
Question ID : 630680653264
Option 11D : 6306802557495
Option 2 ID : 6306802557496
Option 31D : 6306802557494
Option 4 ID : 6306802557497
Status : Answered
Chosen Option : 1
Q.38 A ¥ s 15 (eauui w42 B 20 (eauui 531 2% B, %) A0 6l Qell U2 6 [ead |18 Holla 514 52 B, dl wilsl
g s 8.
Ans 3
&1 —
10
4
X2 Z
9
2
X3 Z
5
5
x4
12
Question ID : 630680653279
Option 1 ID : 6306802557555
Option 2 ID : 6306802557556
Option 3 ID : 6306802557554
Option 4 ID : 6306802557557
Status : Answered
Chosen Option: 1




Q.39 A5 wylsell wigl wal Deell wralell 65 D, %91 vigMl 2 GRRAML M1 WA HeMiell 2 wile s2ami 11, dl ag

el B, wyalls 904l

Ans 3 9
K1 -
26
24
2.
41
41
X3
27
26
p A —
39
Question ID : 630680653207
Option 1 ID : 6306802557266
Option 2 ID : 6306802557267
Option 3 ID : 6306802557269
Option 4 ID : 6306802557268
Status : Answered
Chosen Option : 2
Q.40 . .
10 Hu el A24101] 640 8. ddl dHe{l 32121 vl 20lH].
Ans X 1. 6400
<280
X 3160
v 4 B4
Question ID : 630680653261
Option 1 ID : 6306802557482
Option 2 ID : 6306802557485
Option 3 ID : 6306802557484
Option 4 ID : 6306802557483
Status : Answered
Chosen Option : 4
Q.41 512} 7 24001 vil5cd (Bcell A8 218 W Sdl. 208 U UM W1 528162 10% B. A8 B2 Bedl
<RI WL B d enldl?
Ans X 1. 32055
X2 32030
2 333600
W 4 32160
Question ID : 630680653245
Option 1 ID : 6306802557418
Option 2 ID : 6306802557419
Option 3 ID : 6306802557421
Option 4 ID : 6306802557420
Status : Answered
Chosen Option : 4




Q42 ofla:b:c=3:5:7¥e2a-3b + 5c =78 €14, dl c o] Y& 8,

Ans 1. 21
X2 14
X3 35
X 4 49

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653278
6306802557551
6306802557550
6306802557552
6306802557553
Answered

1

Q.43 4o{|8 1426041 W5 AC WEIZ i dell UFdE HI2 7380 Yscal. Ul Al de 715850 =AU Al £lY, dl A

213 o4 glefl 251a17] 904l

Ans X' 1. 6.8%
X2 74%
X 3.10.9%
4 8.2%
Question ID : 630680653273
Option 11D : 6306802557532
Option 2 ID : 6306802557531
Option 31D : 6306802557530
Option 41D : 6306802557533
Status : Answered
Chosen Option : 4
Q.44 {]3A el Ketl sUL Y U, A5 5x— 3y + 15 = 0 WA 6x + ky + 18 = 0 Al Tl £2118 B2,
Ans 18
o1 -
5
9
K2 ——
5
9
X3 ——
2
18
X4
4
Question ID : 630680653288
Option 11D : 6306802557592
Option 2 ID : 6306802557591
Option 3 ID : 6306802557590
Option 4 ID : 6306802557593
Status : Not Answered

Chosen Option :




Q.45

Ans

UHid2 ALl -5,—2,4 4 11 Ue

X 1. 50
v 2 40
X 3. 60
X 4 45

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653229
6306802557356
6306802557354
6306802557357
6306802557355
Not Answered

D EINAE R RN

Q.46 25 (Ml 8 : 5e1l Al 64 i Y12l B. o (el 6 @2z wiell GRzami 2419, dl sl 8: 9 wa B,

Ans
X110 (der
X2 33(qe2
X3 20 [ger
v 4 12 [ger
Question ID : 630680653247
Option 11D : 6306802557427
Option 2 ID : 6306802557426
Option 31D : 6306802557429
Option 4 ID : 6306802557428
Status : Not Answered
Chosen Option : --
Q.47 529x5289x528+356X356X356
ol Y& 9[ld].
528x528—-528x356+356%356
Ans X' 1. 1768
X 2 756
+ 3. 884
X 4 442
Question ID : 630680653225
Option 1 ID : 6306802557341
Option 2 ID : 6306802557339
Option 3 ID : 6306802557340
Option 4 ID : 6306802557338
Status : Answered
Chosen Option : 4




Q.48 o w5 YU Hulell HI2U9L d AvAldl 50% e A % Hudldl 20% W 340 SlY, dl d dual 56 B2

Ans  X'1. 550
+ 2. 600
23630
<4 480
Question ID : 630680653269
Option 11D : 6306802557515
Option 2 ID : 6306802557516
Option 3 ID : 6306802557514
Option 4 ID : 6306802557517
Status : Not Answered
Chosen Option : --
Q.49

Ans

Ula—L=6 &Y dlq?

V1. 234
X 2. 245
X 3. 278
X4 314

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653226
6306802557342
6306802557343
6306802557344
6306802557345
Not Answered

Q.50 50 uaijadlefl A32091 dual 35 8. %) QA v (2] 26 2 404 $12] Aldin] 218, ql wi1$] 28] vl

Ans

322l 2lHl.

X 13333
X2 3155
3. 34.88
X4 2977

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653263
6306802557491
6306802557492
6306802557490
6306802557493
Answered

3




Q.51 :210%A wilg 52l wWlefl 35U 72 kmph © w14 1210% 2[&d, Ad=ll 35U 60 kmph 8. Wi U[d 5615 2] (421

Uiz Glefl 28 &2

A X 15 [fste

v 2 10 [Wl42
X3 16 [Ulete
X4 1o [Ul42

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680653254
6306802557455
6306802557457
6306802557454
6306802557456
Not Answered

Q.52 g (GzirefToq vial Auell gl (latsell 23212l G2 16 9 @ o) o (B1e1sell Grra wilsid 2vidaiii 20 dl, 10

(azne{laql-l 232101 GHz 2 o] 20169l 2 B, o] (218151l GU Bedl B2

Ans
v 1 36 ay
X2 45qy
X3 40aqy
X4 3gqy
Question ID : 630680653202
Option 1 ID : 6306802557246
Option 2 ID : 6306802557249
Option 3 ID : 6306802557248
Option 4 ID : 6306802557247
Status : Answered
Chosen Option: 1
Q.53
11115 + 742 Vel 31/2- 74/5 <1l Urdlol 52U
Ans | |
X1 AN5-1002
2 4541002
X3 18V5+42
X4 -475+10V2
Question ID : 630680653204
Option 1 ID : 6306802557256
Option 2 ID : 6306802557254
Option 3 ID : 6306802557257
Option 4 ID : 6306802557255
Status : Not Answered

Chosen Option :




Q54 2] wfoiciy vl 20H) B 110041 GRRAM] 419, d) 56 d WAL [N ([detlrd 52 .

Ans 1. 20
X2 24
<318
X 4. 15
Question ID : 630680653236
Option 1 ID : 6306802557384
Option 2 ID : 6306802557385
Option 31D : 6306802557383
Option 4 ID : 6306802557382
Status : Answered
Chosen Option: 1
Q.55
%\ a:b:c = 4:5:9 €lY, dl (a+b+c):c «ll ARMNHR G102 B,
Ans X1 2:3
X212
3 21
X4 32
Question ID : 630680653216
Option 1 ID : 6306802557304
Option 2 ID : 6306802557303
Option 3 ID : 6306802557302
Option 4 ID : 6306802557305
Status : Answered
Chosen Option: 3
Q.56 35 o Hefl el €2 ¥ 6% adl 281 8. %51 Aell elai-{l aadl 40000 €14, dl 2 ay ugl a 9.
Ans X 1. 46544
¥ 2 44944
X 3. 45244
X 4. A8644
Question ID : 630680653210
Option 11D : 6306802557280
Option 2 ID : 6306802557278
Option 31D : 6306802557279
Option 4 ID : 6306802557281
Status : Answered
Chosen Option : 3




Q.57 A5 51512 22% 18 UIANT A{lA A5 Argletl (BHd 2i05d 53 . 291 A 2d(5d (BHd U2 1020 [S2616-2 2182

53, dl deil =Aslell 2s1a1il &9l

Ans X 1. 5%
X2 725%
X 3.11.5%
« 4.919%
Question ID : 630680653214
Option 1 ID : 6306802557294
Option 2 ID : 6306802557295
Option 3 ID : 6306802557297
Option 4 ID : 6306802557296
Status : Answered
Chosen Option : 4
Q.58 ; 1 1-4 1-8
AU AR — 4+ =B 4+ P ol YlHld dsldd 8.
4p 4p 4p
Ans ¢ 1 L 4
v 2 -1
X 31
X4 4
Question ID : 630680653259
Option 1 ID : 6306802557475
Option 2 ID : 6306802557476
Option 3 ID : 6306802557477
Option 4 ID : 6306802557474
Status : Answered
Chosen Option: 1
.59 : ;
239 A5 048] 54 AseSUL 555 e+l 34 €13 B, detl 55U km/ hr 1) 8.
Ans X 1. 33 kmph
X229 kmph
« 3. 37 kmph
X 4. 35 kmph
Question ID : 630680653253
Option 11D : 6306802557452
Option 2 ID : 6306802557453
Option 31D : 6306802557450
Option 4 ID : 6306802557451
Status : Answered
Chosen Option : 3




Q60 o) I ull 4x+2ky -5 = 0 WA 2x+5y+2 = 0 AHIdR S, dl k o &L 9] B?

Ans

X112
V25

X3

X 4.

Ul o a2l U

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680653227
6306802557348
6306802557349
6306802557346
6306802557347
Not Answered

Section : Part B - Constitution of India, Current Affairs, Comprehension, Technical Qualification

Q.61 RAlU cittREI-l seti 53(1) Yosot Al SR Axll

Ans

75 1. GURAAL aSL Ul
75 2. MRdL Gurrguld
25 3. RdAL v el

o 4. Rd-L0uld

A Aluai vuagl.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653064
6306802556706
6306802556708
6306802556709
6306802556707
Answered

4

Q.62 31 o=yl - 2024 Yell-l Guetott Ul yYosor, Azl 58 Hid- sicellu 202 4201?

Ans

25 1. R AU U

X 2.y ulots Ul s
o 3. A”d Al Royd

X4 HRd el i

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653066
6306802556714
6306802556715
6306802556717
6306802556716
Answered

3




Q.63 la-uuiall sut oietRENU YaRN AUERFRUH 4RL MHRA CitlRPLAL ST '[Gi-Rtivels (Secular)'
Lot GHRAMI vl sdli?

Ans o7 1. 424 cieRelu YRl (A, 1974
X 2. 8641 citlRell2 YeRL A4(E M, 2002
X 3. 74l cla Rl YRl 2@, 1956

25 4. 4241 citRQ YRl 2 [, 1976

Question ID : 630680653078
Option 11D : 6306802556762
Option 2 ID : 6306802556765
Option 3 ID : 6306802556764
Option 4 ID : 6306802556763
Status : Answered
Chosen Option : 4

Q.64 AHRAU sitlRELAL AlAA 20l 58 s "AH VAL {216 Asi(Eld asTatudii-l Gedvt
S w1l B?

Ans X 1.sau 45
X 254439
o 3. 5c1 40
X 4. s4u 50

Question ID : 630680653079
Option 11D : 6306802556768
Option 2 ID : 6306802556766
Option 3 1D : 6306802556767
Option 4 ID : 6306802556769
Status : Answered
Chosen Option: 3

Q.65 HRAU cietR@L-AL NRA-Hi2] 56 st yYaeid §081-0L AL sABL ULl B?
Ans  # 1.544 51A

X 2541 50
X 3541 51
X 4. 54449

Question ID : 630680653062
Option 1 ID : 6306802556699

Option 21D :
Option31D:
Option 41D :
Status :

Chosen Option :

6306802556700
6306802556698
6306802556701
Answered

1




Q.66 GURAIY GielRRIAL Il suL eI ‘s arldAUSTwAN L Gedw SAM 2Ll B7?

Ans X 1.e100X
252, ¢pLXXI
o 3. L XVIII
K4 HBRLXV
Question ID : 630680653085
Option 1 ID : 6306802556790
Option 2 ID : 6306802556793
Option 3 ID : 6306802556792
Option 4 ID : 6306802556791
Status : Answered
Chosen Option: 3
Q.67 NA-Hial 56 AW HIRAN GIEIRQIAL SIUEL AUUALAAMT 2L Scll?
Ans X 1.26¢ -y, 1950
< 2,151 2R, 1947
25 3. 26M 4z, 1950
o 4. 26 4R, 1949
Question ID : 630680653058
Option 1 ID : 6306802556682
Option 2 ID : 6306802556683
Option 3 ID : 6306802556685
Option 4 ID : 6306802556684
Status : Answered
Chosen Option : 4
Q.68 7R Ris URUCA 221u-L R0l sut arfui srami 241l sdl?
Ans X 1.1985
o 2.1976
X 3.1974
X 4.1970
Question ID : 630680653082
Option 11D : 6306802556780
Option 2 ID : 6306802556781
Option 31D : 6306802556778
Option 41D : 6306802556779
Status : Answered
Chosen Option : 2




Q.69 424i oitRRlU YeuRA EAUH 1976 LR A=A sl 2A0E MIRALY CIUlRYLAL ST
GHRAMI ALl &di?

Ans o 1. [G-RuiuellRs (Secular)
75 2. olgca (Fraternity)
75 3. uesuxtis (Republic)

X 4. dis2uél (Democratic)

Question ID : 630680653069
Option 1 ID : 6306802556727
Option 2 ID : 6306802556726
Option 3 ID : 6306802556729
Option 4 ID : 6306802556728
Status : Answered
Chosen Option : 1
Q.70 15 §of211 20241 A% Guateel MIE yoret, DAl 58 etRe-Al cietRRNlY AL A201?
Ans X 1.y ulots A4 sMar
o 2. A-2e YA g grdRedlR1A
75 3. eRdq QL U (Finance Commission of India)
X 4. ¢Rdd 2f2ell ua (Election Commission of India)
Question ID : 630680653086
Option 11D : 6306802556795
Option 2 ID : 6306802556794
Option 31D : 6306802556797
Option 41D : 6306802556796
Status : Answered
Chosen Option : 2
Q.71 23 2{id1R2, 2023 L A%, MR (CRARMI gAl AUA UR AU - 3 AL ASN AUlg2 A5t
A Slesin 2l
Ans X 1.GwRga (North Pole)
o 2. e[&QL ga (South Pole)
X 3. Ul ga (West Pole)
X 4.yd ga (East Pole)
Question ID : 630680653031
Option 11D : 6306802556588
Option 2 ID : 6306802556589
Option 3 ID : 6306802556586
Option 4 ID : 6306802556587
Status : Answered
Chosen Option : 2




Q.72 eRe-AL {lAAwizll sut AU B Bedl 21ddl H?

Ans o 1. dlaAg
X 2. ueugel

25 3. oy i sl

X4 HBR
Question ID : 630680653012
Option 1 ID : 6306802556511
Option 2 ID : 6306802556513
Option 3 ID : 6306802556512
Option 4 ID : 6306802556510
Status : Answered
Chosen Option : 2
Q.73 Rl dAseli-i-l Biegtdimi 54U H{olisa g 3 SAs-L vl 1A uel-pipll os-temla
AR ARA 1 Hst 24U (PM JANMAN)A 29 2l sl
Ans X 1.20000
< 2.15000
X 3.1100
o 4.24104
Question ID : 630680653013
Option 11D : 6306802556514
Option 2 ID : 6306802556515
Option 3 ID : 6306802556516
Option 4 ID : 6306802556517
Status : Answered
Chosen Option : 2
Q.74 ax 2023ui dletmi AAUSH A 373 A2u4et Sp-An AlA-Uuiadl sui AU Al ag Ricar dsa
el §?
Ans X 1. dla-g
X 2. sRasu
o 3. HeRIR
X 4 dose
Question ID : 630680653030
Option 1 ID : 6306802556585
Option 2 ID : 6306802556582
Option 31D : 6306802556583
Option 4 ID : 6306802556584
Status : Answered
Chosen Option : 3




Q.75 sdRedl it etif@st (@znau SC, ST, OBC, dgudl AYeldl 244 BPL uRaRixizll 1020
af-{l qu-l s-utAl W2 YRLaiiysd [R1atgL - Qs Y[Aall cid UR - Slmidd 53 O 32l

wAfis2Al Hiedfis 244 R X Yl s-Ul AN URABA (transition) YR a1

Ans  # 1.18
X 2.21
% 3.20
X 4.15
Question ID : 630680653034
Option 11D : 6306802556598
Option 2 ID : 6306802556601
Option 3 ID : 6306802556599
Option 4 ID : 6306802556600
Status : Answered
Chosen Option : 1
Q.76 31 o=y 2024 Y-l Guateet S yorot, DAz A%FAULA-AL et Yol sigL 8?7
Ans X 1. sl (Qwg) ga 1S
25 2. sLls wied
o 3. 3ll eloy-etd il
X 4. RariesRis Alsigl
Question ID : 630680653015
Option 11D : 6306802556523
Option 2 ID : 6306802556524
Option 3 1D : 6306802556522
Option 4 ID : 6306802556525
Status : Answered
Chosen Option: 3
Q.77 ad 20234i, -NlA-iall sut ASui IR 3B 1941 219 [Fiof IS SAUML DI s?
Ans X 1.dg[%al
o 2. sPWIG
2< 3. [z
X 4 i
Question ID : 630680653009
Option 11D : 6306802556501
Option 2 ID : 6306802556500
Option 31D : 6306802556498
Option 4 ID : 6306802556499
Status : Answered
Chosen Option : 2




Q.78 ar 2023, -lA-iall s1gl [Esd vular@l fa uR H-alld 8[ARERA 1R ATRUs S(Gi22A 24

aRe(€s (Tangible) 2414s (MISHTI)-{l 213211 53 ©?

Ans o 1. GlRdALASLUElA

< 2. uulaRl, d- 4 iedlsdl uRad- 4l (Minister of Environment, forest and climate
change)

< 3. ¢l guld
X 4. MRd-L Gueguld

Question ID : 630680653037
Option 1 ID : 6306802556613
Option 2 ID : 6306802556610
Option 3 ID : 6306802556612
Option 4 ID : 6306802556611
Status : Answered
Chosen Option: 2
Q.79 ax{ 20231t Alwizdl sut 1S, Al fedl-l G20 AF2Hi G20 Al eliwQu s RAi
Al sdl?
Ans X 1. ayRl
o 2. AR
X 3. AdierR
X 4. Bpoer
Question ID : 630680653028
Option 1 ID : 6306802556575
Option 2 ID : 6306802556574
Option 3 ID : 6306802556576
Option 4 ID : 6306802556577
Status : Answered
Chosen Option : 2
Q.80 -DlAA-mial sut crfu, 3-8 24 YA Bcrt-A S5 A3UA-] oA 5A B, B+l S HIRe
A2 2516 Glowl G5l ol AsUPIA UL delRal-AL Eql eysicus udd 8?
Ans X 1.2022
X 2.2023
X 3.2021
o 4.2024
Question ID : 630680653036
Option 1 ID : 6306802556606
Option 2 ID : 6306802556607
Option 3 ID : 6306802556609
Option 4 ID : 6306802556608
Status : Answered

Chosen Option : 2




Comprehension:

HIR AR 4L A4S ueteluls sdl. d dai dl J 2HT Rl GuRid ollog A oy, uQL 24198 ¢ A1 e
(S A 20l 21§ 8. 2Ll A(SAL TFUR cUlus 34 USS AR d UldiAl uLlell s1A (et pui?
) cutus 2(EAA ABlg HU sl2g 25U B, U] Aict &tHl Rictign-L aeiael] Uldga sdl. d sle
5221, 52 -t Aetoudgl, se HIY g2l AUg H 1 g UL dHEL Al 2UR 2lild B df sReL
el [FuileRt sofeld sdl 21§ Hid ©. o HIRIRL AUESIR 241101, A9, Uil eluiel, Futleuust 4
5 56l d A sl Wlcistiyds ASR 5A A B d YegelH URAUBAL 3 D, ¢ oG] © & HRL 2R Qi
HR (@ (ot 2 A dudl Hest UM gl uudl.

SubQuestion No : 81

~

Q.81 s52UA-l Sl (U2 Al
Ans X 1.socld

X 2. RdiRAs
o 3. [FluuaRudl

X 4. ARl

Question ID : 630680653098
Option 11D : 6306802556837
Option 2 ID : 6306802556835
Option 31D : 6306802556836
Option 4 1D : 6306802556834
Status : Answered
Chosen Option : 2

Comprehension:
HIR AR 1L ASAL elelus sdl. d dari dl { 20 Qi GuRid oflog - o1y, U L 21198 ¢ 21 Y
(EAA A 2]l 2 8. 2Ll USAUL BUR cUlus AU USS AR o Uldi-Al u2ll s1 24 (Gt Aul?
U] cutus 2EAA Al HU sl2qg 25U 8. 4l Aict &l Rictign-L aeiael] Uldga sdl. d sla
529 52 a2 Aetalag], selt H1Y 529, g H ar] eg;. UL dHgl uedl 2uR Aild madl df sRel
el [Frutlet sojeticd sl 2 ¢ Hig 9. 8 HIRRL ARSI 249101, 02091, Ulctil el [FruierRiugl 4
5 56l d A s, Wleistiyds ASR 53A A B d YegelH URAUBAA 53 B, ¢ o] © & HRL AR R
HIR (A (Fofu 2 A dul st UM gl el
SubQuestion No : 82

Q.82 ‘&t Al [GRitueul ot el

Ans X 1.9l
o 2.5
X 3.
X 4. 11

Question ID : 630680653101
Option 11D : 6306802556848
Option 2 ID : 6306802556849
Option 3 1D : 6306802556847
Option 4 ID : 6306802556846
Status : Answered
Chosen Option : 2




Comprehension:
HIR AR 4L A4S ueteluls sdl. d dai dl J 2HT Rl GuRid ollog A oy, uQL 24198 ¢ A1 e
(S A 20l 21§ 8. 2Ll A(SAL TFUR cUlus 34 USS AR d UldiAl uLlell s1A (et pui?
U] cutus 2(EAA Al HU sl2g 25U B, 4] Aict &tHl Rictign-L aeiael] Uldga sdl. d sla
5221, 52 -t Aetoudgl, se HIY g2l AUg H 1 g UL dHEL Al 2UR 2lild B df sReL
elsll Rt sofdld el 214 @ Hig 8. 98 HIQRL A(ESIA 2419101, 9124, UlediAL el Fruitequsl 4
5 56l d A sl Wlcistiyds ASR 5A A B d YegelH URAUBAL 3 D, ¢ oG] © & HRL 2R Qi
HR (@ (ot 2 A dudl Hest UM gl uudl.
SubQuestion No : 83

Q.83 uRBeui cusd drly yeis- s

Ans X 1.uRas
25 2. AUl welld
X 3. uRaR eia-t

o 4. Q- GeRel

Question ID : 630680653099
Option 11D : 6306802556841
Option 2 ID : 6306802556840
Option 31D : 6306802556839
Option 4 1D : 6306802556838
Status : Answered
Chosen Option: 1

Comprehension:
HIR AR 1L ASAL elelus sdl. d dari dl { 20 Qi GuRid oflog - o1y, U L 21198 ¢ 21 Y
(EAA A 2]l A 8. 2Ll USAUL BUR cUlUs AU USS AR o Uldi-Al uL2ll s1 4Gt Aul?
U] cutus 2EAA Al HU sl2qg 25U 8. 4l Aict &l Rictign-L aeiael] Uldga sdl. d sla
529 52 a2 Aetalag], selt H1Y 529, g H ar] eg;. UL dHgl uedl 2uR Aild madl df sRel
el [Frutlet sojeticd sl 2 ¢ Hig 9. 8 HIRRL ARSI 249101, 02091, Ulctil el [FruierRiugl 4
5 56l d A s, Wleistiyds ASR 53A A B d YegelH URAUBAA 53 B, ¢ o] © & HRL AR R
HIR (A (Fofu 2 A dul st UM gl el
SubQuestion No : 84

Q.84 s52UA-l USIR 2Alell

Ans o 1. 2UcHSAUIRL
< 2. e

5 3. seldld-Al]
X 4 [Qur

Question ID : 630680653100
Option 11D : 6306802556845
Option 2 ID : 6306802556844
Option 3 1D : 6306802556842
Option 4 ID : 6306802556843
Status : Answered
Chosen Option : 1




Comprehension:

HIR AR 4L A4S ueteluls sdl. d dai dl J 2HT Rl GuRid ollog A oy, uQL 24198 ¢ A1 e
(St A 20l 21§ 8. 2Ll A(SAL TFUR s 34 USS AR d UldiAl uLlell s1A (et pui?
U] cutus 2(EAA Al HU sl2g 25U B, 4] Aict &tHl Rictign-L aeiael] Uldga sdl. d sla
5221, 52 -t Aetoudgl, se HIY g2l AUg H 1 g UL dHEL Al 2UR 2lild B df sReL
el [FuileRt sofeld sdl 21§ Hid ©. o HIRIRL AUESIR 241101, A9, Uil eluiel, Futleuust 4
5 56l d A sl Wlcistiyds ASR 5A A B d YegelH URAUBAL 5 D, ¢ 7] © & HRL s R
HR (@ (ot 2 A dudl Hest UM gl uudl.

SubQuestion No : 85

Q.85 -Alai-t g52u- Aidy 2Als 21l

Ans

o 1. xS s
25 2. Riat (@8
25 3. 90l (a8
X 4. Q2d [@gl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680653097
6306802556830
6306802556832
6306802556833
6306802556831
Answered

1




Q.86

Ans

Comprehension:
Refer to the below passage and answer the questions from 1-5.

The "Say No!" campaigns have been a popular approach for addressing various social issues.
Despite the numerous efforts to sway people away from negative habits through persuasion,
coercion, bribes, threats, punishments, and love, there are still those who cling to these
undesirable lifestyles. For example, despite the countless anti-smoking advertisements
displayed on billboards and across media platforms, smoking remains a prevalent problem.
One reason for the ineffectiveness of these campaigns could be the natural human tendency
to question why one should "Say No!" This leads to a sense of curiosity and temptation to try
the banned product, making it challenging to break away once caught in its grasp.
Additionally, the emphasis on "Say No!" may not effectively convey the intended message, but
rather highlights the banned product, making it more alluring. A more effective approach
would be to use positive reinforcement. By encouraging safe driving, legal races, healthy
living, and good moral values, we can cultivate a more positive attitude in youth, helping to
bring out their innate goodness. Psychologists have noted that excessive negative
reinforcement can lead to rebellious behavior, making it all the more crucial to adopt a
positive approach. Instead of simply telling teenagers to "Say No!", let us provide them with
opportunities to expand their energies and live life to the fullest. Encourage them to "Say Yes!"
to positive values that will lead to a happy and fulfilling life. This includes promoting
continued education, obedience to parents, and self-care. By channeling their youthful energy
into positive habits, we can help them grow into mature and responsible individuals.

In conclusion, the "Say No!" campaigns have proven to be insufficient in addressing social
issues. Instead, we should adopt a positive approach that encourages good habits in youth
and helps them lead happy and fulfilling lives.

SubQuestion No : 86

Select the most appropriate meaning of the word below from the below options.

Prevalent
#< 1. Different from what is usual or average
o« 2. Existing very commonly or happening often
#< 3. much greater than usual, especially in skill, intelligence, quality, etc.

5 4. the ability to learn, understand, and make judgments or have opinions that
are based on reason

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680653056

6306802556674
6306802556675
6306802556676
6306802556677

: Not Answered
Chosen Option :




Comprehension:
Refer to the below passage and answer the questions from 1-5.

The "Say No!" campaigns have been a popular approach for addressing various social issues.
Despite the numerous efforts to sway people away from negative habits through persuasion,
coercion, bribes, threats, punishments, and love, there are still those who cling to these
undesirable lifestyles. For example, despite the countless anti-smoking advertisements
displayed on billboards and across media platforms, smoking remains a prevalent problem.
One reason for the ineffectiveness of these campaigns could be the natural human tendency
to question why one should "Say No!" This leads to a sense of curiosity and temptation to try
the banned product, making it challenging to break away once caught in its grasp.
Additionally, the emphasis on "Say No!" may not effectively convey the intended message, but
rather highlights the banned product, making it more alluring. A more effective approach
would be to use positive reinforcement. By encouraging safe driving, legal races, healthy
living, and good moral values, we can cultivate a more positive attitude in youth, helping to
bring out their innate goodness. Psychologists have noted that excessive negative
reinforcement can lead to rebellious behavior, making it all the more crucial to adopt a
positive approach. Instead of simply telling teenagers to "Say No!", let us provide them with
opportunities to expand their energies and live life to the fullest. Encourage them to "Say Yes!"
to positive values that will lead to a happy and fulfilling life. This includes promoting
continued education, obedience to parents, and self-care. By channeling their youthful energy
into positive habits, we can help them grow into mature and responsible individuals.

In conclusion, the "Say No!" campaigns have proven to be insufficient in addressing social
issues. Instead, we should adopt a positive approach that encourages good habits in youth
and helps them lead happy and fulfilling lives.

SubQuestion No : 87

Q.87 Identify the suitable title for the passage.

Ans

" 1. The Power of Positive Reinforcement: Encouraging Good Habits in Youth
< 2. Anti-smoking advertisements
/5 3. Good moral values and its disadvantages

/X 4. How to "Say Yes!" campaigns

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680653052
6306802556660
6306802556659
6306802556661
6306802556658
Answered

1




Q.88

Ans

Comprehension:
Refer to the below passage and answer the questions from 1-5.

The "Say No!" campaigns have been a popular approach for addressing various social issues.
Despite the numerous efforts to sway people away from negative habits through persuasion,
coercion, bribes, threats, punishments, and love, there are still those who cling to these
undesirable lifestyles. For example, despite the countless anti-smoking advertisements
displayed on billboards and across media platforms, smoking remains a prevalent problem.
One reason for the ineffectiveness of these campaigns could be the natural human tendency
to question why one should "Say No!" This leads to a sense of curiosity and temptation to try
the banned product, making it challenging to break away once caught in its grasp.
Additionally, the emphasis on "Say No!" may not effectively convey the intended message, but
rather highlights the banned product, making it more alluring. A more effective approach
would be to use positive reinforcement. By encouraging safe driving, legal races, healthy
living, and good moral values, we can cultivate a more positive attitude in youth, helping to
bring out their innate goodness. Psychologists have noted that excessive negative
reinforcement can lead to rebellious behavior, making it all the more crucial to adopt a
positive approach. Instead of simply telling teenagers to "Say No!", let us provide them with
opportunities to expand their energies and live life to the fullest. Encourage them to "Say Yes!"
to positive values that will lead to a happy and fulfilling life. This includes promoting
continued education, obedience to parents, and self-care. By channeling their youthful energy
into positive habits, we can help them grow into mature and responsible individuals.

In conclusion, the "Say No!" campaigns have proven to be insufficient in addressing social
issues. Instead, we should adopt a positive approach that encourages good habits in youth
and helps them lead happy and fulfilling lives.

SubQuestion No : 88

Select the most appropriate ANTONYM of the below mentioned word from the below
options.

Curiosity
5 1. Inquisitiveness
< 2. Wonderment
& 3. Disregard
X 4. Interest

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

630680653055

6306802556671
6306802556673
6306802556672
6306802556670

1




Q.89

Ans

Comprehension:
Refer to the below passage and answer the questions from 1-5.

The "Say No!" campaigns have been a popular approach for addressing various social issues.
Despite the numerous efforts to sway people away from negative habits through persuasion,
coercion, bribes, threats, punishments, and love, there are still those who cling to these
undesirable lifestyles. For example, despite the countless anti-smoking advertisements
displayed on billboards and across media platforms, smoking remains a prevalent problem.
One reason for the ineffectiveness of these campaigns could be the natural human tendency
to question why one should "Say No!" This leads to a sense of curiosity and temptation to try
the banned product, making it challenging to break away once caught in its grasp.
Additionally, the emphasis on "Say No!" may not effectively convey the intended message, but
rather highlights the banned product, making it more alluring. A more effective approach
would be to use positive reinforcement. By encouraging safe driving, legal races, healthy
living, and good moral values, we can cultivate a more positive attitude in youth, helping to
bring out their innate goodness. Psychologists have noted that excessive negative
reinforcement can lead to rebellious behavior, making it all the more crucial to adopt a
positive approach. Instead of simply telling teenagers to "Say No!", let us provide them with
opportunities to expand their energies and live life to the fullest. Encourage them to "Say Yes!"
to positive values that will lead to a happy and fulfilling life. This includes promoting
continued education, obedience to parents, and self-care. By channeling their youthful energy
into positive habits, we can help them grow into mature and responsible individuals.

In conclusion, the "Say No!" campaigns have proven to be insufficient in addressing social
issues. Instead, we should adopt a positive approach that encourages good habits in youth
and helps them lead happy and fulfilling lives.

SubQuestion No : 89
Given below is a word, followed by three sentences that consist of that word. From the given
options identify the sentence(s) that best express(es) the meaning of the word.

Rebellious

A) The rebellious troops attempted to subvert the present government.
B) Maria was headstrong and rebellious.

C) He was very respectful at home and rebellious to his parents.

« 1. A&Bonly
X 2.B&Conly
5 3.A&Conly
X 4.A,B&Conly

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680653053
6306802556662
6306802556663
6306802556665
6306802556664
Not Answered




Comprehension:
Refer to the below passage and answer the questions from 1-5.

The "Say No!" campaigns have been a popular approach for addressing various social issues.
Despite the numerous efforts to sway people away from negative habits through persuasion,
coercion, bribes, threats, punishments, and love, there are still those who cling to these
undesirable lifestyles. For example, despite the countless anti-smoking advertisements
displayed on billboards and across media platforms, smoking remains a prevalent problem.
One reason for the ineffectiveness of these campaigns could be the natural human tendency
to question why one should "Say No!" This leads to a sense of curiosity and temptation to try
the banned product, making it challenging to break away once caught in its grasp.
Additionally, the emphasis on "Say No!" may not effectively convey the intended message, but
rather highlights the banned product, making it more alluring. A more effective approach
would be to use positive reinforcement. By encouraging safe driving, legal races, healthy
living, and good moral values, we can cultivate a more positive attitude in youth, helping to
bring out their innate goodness. Psychologists have noted that excessive negative
reinforcement can lead to rebellious behavior, making it all the more crucial to adopt a
positive approach. Instead of simply telling teenagers to "Say No!", let us provide them with
opportunities to expand their energies and live life to the fullest. Encourage them to "Say Yes!"
to positive values that will lead to a happy and fulfilling life. This includes promoting
continued education, obedience to parents, and self-care. By channeling their youthful energy
into positive habits, we can help them grow into mature and responsible individuals.

In conclusion, the "Say No!" campaigns have proven to be insufficient in addressing social
issues. Instead, we should adopt a positive approach that encourages good habits in youth
and helps them lead happy and fulfilling lives.

SubQuestion No : 90

Q.90 Select the most appropriate SYNONYM of the below mentioned word from the below

Ans

options.

Sway
< 1. Ineptitude
& 2. Influence
/5 3. Helplessness
X 4. Weakness

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680653054
6306802556667
6306802556669
6306802556666
6306802556668
Not Answered

Q.91 What is the approximate maximum noise level that humans can tolerate for prolonged

Ans

periods without adverse health effects?

W 1.85
% 2.95
X 3.65
X 4.75

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653345
6306802557818
6306802557821
6306802557820
6306802557819
Answered

1




Q.92 sl A2G2 ci-tadl avid Ygldui-ll ALl sl UARS SRR B7?

Ans X 1. 45 SUR sl el scll d diRu 24 AHUAL Bedut sl 1.
2 2. 14 3d YAddL.
25 3. wscayel ARG 24 odii(Es (AudRAA BordR SCL
o 4. ASALUR UL Rl 24 001 HeleteA HI2 BSA el Sl
Question ID : 630680653315
Option 1 ID : 6306802557701
Option 2 ID : 6306802557698
Option 3 ID : 6306802557700
Option 4 ID : 6306802557699
Status : Answered
Chosen Option: 3
Q.93 tdelt of [Qe-ii- el aial 244 A1l [Esey uaie sA:
Qe 1 ostuidl el o3 3 ), Wil w4 EsAldd-2 s 25 a3l 2l oflon 2430
SAs2lAs sAAML s1R ST B.
et 11 vuiarelu gfesigRl 8dsgiAs s d-sB(Ed1 2 Sivs sl 8.
Ans X 1. (Qeid | 2 [@Qei 1 oA g0 8.
X2, [@Qaud 1 ullg & ugt [Qeu-t 1T 0 8.
25 3. ([Aet | A e 11 eid wia 9.
o 4. Qe ] AR S ueL [Gend 1hw{ig 8.
Question ID : 630680653403
Option 1 ID : 6306802558050
Option 2 ID : 6306802558053
Option 3 ID : 6306802558051
Option 4 ID : 6306802558052
Status : Answered
Chosen Option : 4
Q.94 How does the Schedule of Rates (SOR) contribute to cost estimation in construction
projects?
Ans X 1.By accounting for inflation and market fluctuations
&" 2. By providing a baseline for calculating labor and material costs
Z< 3. By providing a fixed cost for all project components
/< 4. By allowing for flexible pricing based on project requirements
Question ID : 630680653392
Option 1 ID : 6306802558007
Option 2 ID : 6306802558009
Option 31D : 6306802558006
Option 4 ID : 6306802558008
Status : Answered
Chosen Option : 4




Q.95 Hu ASdHi, 2L "A" Rig Aw-U Ad g e2uld &?
Ans X 1. 4€dl

o 2. udd-il (Rl (Mountain peaks)

X 3.8 [ARdRl

25 4. 3As AUidrDel (Road intersections)

Question ID : 630680653318
Option 11D : 6306802557711
Option 2 ID : 6306802557710
Option 31D : 6306802557713
Option 4 ID : 6306802557712
Status : Answered
Chosen Option : 2
Q.96 AR vl (contour lines) &1L 56 vl 512v181 BE B?
Ans X 1.sd alg- (saddle line)
o 2. Adl cuH (valley line)
75 3. Gledl viss (vertical cliff)
75 4. 1R sl el (contour cross line)
Question ID : 630680653301
Option 1 1D : 6306802557645
Option 2 ID : 6306802557642
Option 3 ID : 6306802557644
Option 4 ID : 6306802557643
Status : Answered
Chosen Option : 3
Q.97 Which of the following terms describes the maximum pressure that can be applied to the
soil before it undergoes significant settlement or deformation?
Ans X 1. Safe bearing capacity
/5 2. Allowable bearing capacity
&" 3. Ultimate bearing capacity
X 4. Net allowable bearing pressure
Question ID : 630680653325
Option 1 1D : 6306802557740
Option 2 ID : 6306802557738
Option 31D : 6306802557739
Option 4 ID : 6306802557741
Status : Answered
Chosen Option : 2
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Q.98 AR RUAL WA cls-6lR3L &udll Uel- 5ell-] &MUl SIRWL 6l S eliasii W2 sUL USR] sudl

Chosen Option :

Ans X 1.3l
X 2.
< 3. 5i52 (Gravel)
o 4. sullHl :9%(Crushed stone)
Question ID : 630680653378
Option 11D : 6306802557951
Option 2 ID : 6306802557953
Option 3 D : 6306802557950
Option 4D : 6306802557952
Status : Answered
Chosen Option : 4
Q.99 uscld-l dlsidl A58l st wARs uRoial suL ©?
Ans X 1. dluMiA-L dgledl, sl el 1ini 44 2uRUGsd datill.
o 2. A-SHIR WISAMA, Wl dtumid 244 dlclaQlU R«
230t Bl iRl eoitgl 244 A4 uetsl.
X 4. ooy iR, Alenndld] AR 2 aRdLe-A] e,
Question ID : 630680653358
Option 11D : 6306802557872
Option 21D : 6306802557873
Option 31D : 6306802557870
Option 4 ID : 6306802557871
Status : Answered
Chosen Option : 1
Q.100 Which factor does Terzaghi's bearing capacity theory not take into account when evaluating
a shallow foundation's ultimate bearing capacity?
Ans " 1. Soil permeability
#< 2. Soil cohesion
25 3. Depth of foundation
/5 4. Shape of foundation
Question ID : 630680653326
Option 1 ID : 6306802557745
Option 2 ID : 6306802557744
Option 3 ID : 6306802557743
Option 4 ID : 6306802557742
Status : Not Answered
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Chosen Option :

Ans X 1.600 5
& 2.800 51
75 3.300 5
X 4,400 3
Question ID : 630680653359
Option 1 ID : 6306802557876
Option 2 ID : 6306802557877
Option 3 ID : 6306802557874
Option 4 ID : 6306802557875
Status : Answered
Chosen Option : 2
Q.102 In groundwater hydrology, what term describes the volume of water that can be extracted
from an aquifer without causing excessive depletion or degradation of the groundwater
resource?
Ans X 1. Transmissivity
/X 2. Groundwater recharge
o« 3. Safe yield
< 4. Cone of depression
Question ID : 630680653333
Option 1 ID : 6306802557773
Option 2 ID : 6306802557772
Option 31D : 6306802557771
Option 4 ID : 6306802557770
Status : Not Answered
Chosen Option : --
Q.103 200 {1221t 2411 VidlR U 25 300 {122 244 350 {2+l BuLE 1A Hucti 2Aadl ¢ sigaR
AL AL 251UA-L ABV12 Q] B 4 951 150 Hl2-1 BALSL iR UR MM 241, ol d F2al
251 oledId ©?
Ans X 1.26% 2114 39%
X 2.21.11% 24 34.44%
X 3.35% x4 47%
o 4.25% 211 33.33%
Question ID : 630680653306
Option 11D : 6306802557665
Option 2 ID : 6306802557662
Option 3 ID : 6306802557664
Option 4 1D : 6306802557663
Status : Not Answered




Q.104 A2l - Al-1RAL AUR 5L HI& 532-AB3 S §1891 (CAD) Aligedr-l GuIdL sl Wil
Al g 8?

Ans X 1. o{ldil(Gs (QRncRAA AaulSd s AlsALSHT YElRL
o 2. »sul gllg2at 24 2oL Sulai(@dl
75 3. ASAL HUAL HIR SPLAHAL AURIREMI El2Ls

25 4. Br2iulss s-slai Rt (GIS) A1 Ged 281501

Question ID : 630680653320
Option 11D : 6306802557718
Option 2 ID : 6306802557719
Option 3 1D : 6306802557721
Option 4 ID : 6306802557720
Status : Answered
Chosen Option: 2

Q.105 uUicRRNU AR e2Lsdl HI2 AR SUUAA 3l Ad AU 5 AS1A?
Ans X 1. 2t UsFa WilSd sA4

o 2. RAu(se0 4 s1UlR221 WLl et A
X 3. a-s(aléar ug il aarld

27X 4. SUAALIRSULAR [Aslemi aalRl sA4

Question ID : 630680653406
Option 11D : 6306802558064
Option 2 ID : 6306802558063
Option 31D : 6306802558065
Option 4 1D : 6306802558062
Status : Answered
Chosen Option: 2

Q.106 Azl 5y (55A-Auct ciiete WilzuHd1 Rired (DGPS)-L Riggicl Uldu Ad g 53 8?
Ans X 1. GPS Hiu--l AlsA1E aelRal Hi2 DGPS 1 2iee{ 221-1uill 53521 Ritell-l Gualal $3 8.
o 2.0
25 3. Uil AlsAS YeuRdl Hi2 DGPS 2 222142 (geostationary) Guatsi-l H2ds uR
BER AW D,

X 4. duiell s ugl &l

Question ID : 630680653305
Option 11D : 6306802557659
Option 2 ID : 6306802557660
Option 31D : 6306802557658
Option 4 ID : 6306802557661
Status : Answered
Chosen Option : 2




Ans

Q.107 What is the purpose of including "escalation” in rate analysis?

< 1. To estimate the cost of legal permits required for construction
75 2. To estimate the equipment cost

#< 3. To calculate the depreciation of equipment used in the project

¥ 4. To adjust for changes in the cost of materials and labor over time

Question ID : 630680653393
Option 1 ID : 6306802558012
Option 2 ID : 6306802558013
Option 3 ID : 6306802558011
Option 4 ID : 6306802558010
Status : Answered
Chosen Option : 1
Q.108 DAzl 53 (et 22u-s el Y- clai(@isdi AlssA agli- s2 8?
Ans X 1. AAS Blidell Y-l UFHIFA 24 AAT2cll A1 4101 53 ASL 8.
X 2. 2215 2ildg YR dlH-ElH 41d D 24 UAN{AR HIZ YRl AHU AW B,
X 3. 2Us g YR Hued dietl duou-l aRdteAl de-dd sRL A 8.
o 4. VRS 2ldg YR, BSUL 2 SERAHT Aid 22U[AS Sl B,
Question ID : 630680653355
Option 11D : 6306802557860
Option 21D : 6306802557858
Option 31D : 6306802557861
Option 41D : 6306802557859
Status : Answered
Chosen Option : 4
Q.109 GPS Rt HeAwA 8-2E31-1 21 G2l guicdl 244 Al A dlaat a0 ardlaton ([Edrui
S1egR IRl UR 511 5l Hiow Rl S3HARAUT 112 AR B. Vitell Y23l eruf ASA a2
HeAUI2AA 243U d2isdl WA GPSHI AisAS aetRal Hi2 58 ugld Sivs 51 59?
Ans o 1. Bield- (- Helul welRuxA A2 GPS AA{\cRI-l Bulal
25 2. s % dloy RAA A Aet-21eM s1eHRs (Real-Time Kinematic) (RTK) GPSHI Guatial
sdl
X 3. A2ege- R 0221 Rzl YRl A1 BRUSA UlS-2 UlBeiFHaL (Precise Point
Positioning) (PPP) GPSHl el
75 4. ag AR Riud Rt 1R sitgl 212l 5% GPS A1 asHide
Question ID : 630680653309
Option 1 ID : 6306802557675
Option 2 ID : 6306802557676
Option 31D : 6306802557677
Option 4 ID : 6306802557674
Status : Answered
Chosen Option : 3
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Q.110 l2-uHial 53 ej5u-tl Yo dat il AUFRAL 5 agld B - eidu-uldRius ARLARALL Ui
Ans o 1. yedl-l 2Rui 21218 Bl lsalell efsU URRE & 2 gl Hi2 [FuFd FRlegr 244
X 2. Hird g [RiAlA SREL e4gU 24U B A s galld stual 2 ARLARSIH HI2 Alell Hscay Rl
25 3. R dRALEA SREYL GSU AR 8 2 SR HIS ARLARAL chs(R-L 9L YA ae 2a[Uel 539

X 4. og5u o opalauyull 518l Alsaci-l SRYL 2R S 4 ARLAR-A alell-l esanall 12 d-

Question ID : 630680653363
Option 11D : 6306802557891
Option 2 ID : 6306802557893
Option 31D : 6306802557892
Option 4 ID : 6306802557890
Status : Answered
Chosen Option : 1

Q.111 ARlwi2dl sul 2is il 555 GEl AUURA 2 [52- UsR H?
Ans X 1. vl yredl 2k

25 2. uularllu viquia 24152
25 3. sl 2082

o 4. 2R (wel) 212

Chosen Option :

Question ID : 630680653347
Option 1 ID : 6306802557827
Option 2 ID : 6306802557826
Option 3 ID : 6306802557828
Option 4 ID : 6306802557829
Status : Not Answered
Chosen Option : --
Q.112 Rl LS U, Bi-U USIR-AL 5152 Yaii-2-l da-ii Ac-stlses sifse dad-2 (RCCP)- g
qsiQL 8?
Ans & 1. RCCP A s (A(2r2 Ufciar #ell4-l Guallol s cilaaiii 441d & o dgf Howoyd i 2516UR]
U 5L HER siBe (el qgRid 52 8.
X 2. dtuniA-l aeleed AHLdal A4 85101 251dell {2 RCCPA diRdR Al deiReal-l 3R 8.
25 3. dls-olRal giHdl aeRal 244 RgAlsed 35114 elatsl #i2 RCCP A i1 Ad e odi2ll Howeyd
olAldelHi 441 8.
25 4. RCCP -l GuldaL A1 Ad s15-1Ls ©15a 444 AS3A 2L 112 d-l A0 AUIAA 5161 241
8.
Question ID : 630680653373
Option 1 ID : 6306802557931
Option 2 ID : 6306802557932
Option 31D : 6306802557933
Option 4 ID : 6306802557930
Status : Answered

1
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Ans X 1. 2asiell Hilsdl wlafEea sl 12 2A1Eu 24 Aé-L GuallaL,
X 2. 81:g2R -l Gullal sA A [Edal 58RI AlEse 0.
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Question ID : 630680653316
Option 1 ID : 6306802557703
Option 2 ID : 6306802557704
Option 3 ID : 6306802557705
Option 4 ID : 6306802557702
Status : Answered
Chosen Option : 4
Q.114 -NA-uizll 53y uRetn MRAHT S18d-L [EsiA -Taurt Ad uildd sg 201?
Ans X 1. cRdl o0l
X 2. ulEs gl
75 3. ollollfés equeel
o 4. ds-18l walld
Question ID : 630680653367
Option 1 ID : 6306802557906
Option 2 ID : 6306802557907
Option 3 ID : 6306802557908
Option 4 ID : 6306802557909
Status : Answered
Chosen Option : 3
Q.115 Which of the following methods is NOT used for the preparation of Schedule of Rates
(SOR)?
Ans X 1. Market survey and benchmarking
/X 2. Consultation with industry experts and stakeholders
&" 3. Random selection of rates from other projects
< 4. Historical data analysis
Question ID : 630680653395
Option 1 ID : 6306802558019
Option 2 ID : 6306802558021
Option 3 ID : 6306802558020
Option 4 ID : 6306802558018
Status : Answered
Chosen Option : 3




conveying it through pipes to storage tanks or reservoirs for later use?
Ans X 1. Rainwater diversion

25 2. Percolation pits
25 3. Contour trenching

&* 4. Roof rainwater harvesting

Q.116 Which rainwater harvesting method involves the collection of rainwater from rooftops and

Question ID : 630680653336
Option 11D : 6306802557783
Option 2 ID : 6306802557782
Option 3 ID : 6306802557785
Option 4 ID : 6306802557784
Status : Answered
Chosen Option : 2
Q.117 An unmanned aerial vehicle (UAV) outfitted with high-resolution cameras is going to be
used by a survey team to draw contours in a remote and rocky area that is unsuitable for
conventional surveying techniques. What is the most important thing that the team should
take into account to guarantee accurate and trustworthy survey results?
Ans X 1. Data storage capacity for storing high-resolution imagery captured by the UAVs
&* 2. Availability of GPS signals for precise georeferencing
/X 3. Wind speed and direction at the survey location
/X 4. Payload capacity of the UAVs for carrying survey equipment
Question ID : 630680653308
Option 11D : 6306802557672
Option 2 ID : 6306802557673
Option 3 1D : 6306802557670
Option 4 ID : 6306802557671
Status : Answered
Chosen Option : 1
Q.118 uulaRRNY AR UABRS Ad ©2isdl {12 5[ sUA 3l Ad AAUEAA sA ASA?
Ans X 1. A€ 2 axouRriHi Fisid 524
o 2. ulldR 21 1(&iat (mulching) ds-lsIHl 24 534
X 3. A UldRIH ved AUl
25 4. veuaR¥d Fistd i wictl(Sd 54
Question ID : 630680653398
Option 1 1D : 6306802558032
Option 2 ID : 6306802558031
Option 3 ID : 6306802558030
Option 4 ID : 6306802558033
Status : Answered

Chosen Option : 2
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Chosen Option :

Question ID : 630680653381
Option 1 1D : 6306802557964
Option 2 ID : 6306802557962
Option 3 1D : 6306802557965
Option 4 ID : 6306802557963
Status : Answered
Chosen Option : 3
Q.120 What factors influence the spread and intensity of fires?
Ans X 1. Adequate Firefighting Resources and Immediate Response
#< 2. High Humidity and Low Temperatures
& 3. Dry Conditions and Strong Winds
/X 4. Dense Vegetation and Wet Soil
Question ID : 630680653357
Option 11D : 6306802557869
Option 2 ID : 6306802557866
Option 31D : 6306802557868
Option 4 1D : 6306802557867
Status : Answered
Chosen Option : 3
Q.121 During a complex aerial contour survey conducted in a dense forested area with limited
visibility of the ground, which aerial survey method would be most suitable for accurately
mapping the terrain's elevation changes?
Ans X 1. Aerial photogrammetry using traditional film cameras
#< 2. Thermal imaging using infrared sensors
#< 3. Synthetic Aperture Radar (SAR) imaging with X-band frequency
" 4. LIDAR remote sensing employing green laser pulses
Question ID : 630680653307
Option 11D : 6306802557666
Option 2 ID : 6306802557669
Option 31D : 6306802557668
Option 4 1D : 6306802557667
Status : Answered

1




Q.122 WA ot-tic2ui e-lsWL 2 VisBisWL uBuAL a3l oy (AR uRoin §f 8?
dlows (cohesive) Tl HRAR 5 V.
oAl HIAAL el2LsellAl AHIRL AR B,
B AsallZuL § HEARAL el AS V.

uBul A2fl 244 d sHl AHEUA dRS ER| 1 B.

Ans X 1. slUs2 Yy sIERiAI-AR1 (cohesionless) sl BRI 53 B, BUR WSS Huucd
o 2. sUsA-HL cd-tidAL HIgtHL gRL HIAAL eltdiMi deliR] Al 8, IR AUSISWHI IR $501
< 3. slrisut »suell 2 8, AL Ad selst A2l [Eagiui, R 8501 2 el aUfd-) ubu &

25 4. s1UsAA 2 URUR 3uUidAdt 52 AsE ddl UEUL B, AR WSS URUR uUidAd 52 AS ddll

Question ID : 630680653328
Option 11D : 6306802557751
Option 2 ID : 6306802557750
Option 3 ID : 6306802557752
Option 4 ID : 6306802557753
Status : Not Answered
Chosen Option : --
Q.123 Which stage of the Environmental Impact Assessment (EIA) process involves the evaluation
of potential environmental impacts and the identification of mitigation measures?
Ans X 1.Screening
X 2. Monitoring and compliance
#< 3.Scoping
& 4. Impact assessment
Question ID : 630680653348
Option 1 1D : 6306802557830
Option 2 ID : 6306802557833
Option 31D : 6306802557831
Option 4 1D : 6306802557832
Status : Answered
Chosen Option : 4
Q.124 In seismic engineering, what term refers to the ability of a structure to withstand seismic
forces without collapsing?
Ans X 1. Seismic performance
25 2. Seismic resilience
/5 3. Seismic robustness
" 4. Seismic capacity
Question ID : 630680653352
Option 1 1D : 6306802557847
Option 2 ID : 6306802557846
Option 3 ID : 6306802557849
Option 4 ID : 6306802557848
Status : Answered
Chosen Option : 2




Q.125 oxtuidl ARABIs sARU AUt sl A4 Uggi[el 56 ?
Ans X 1. Rulsta

X 2. a-slse [Asie (Landfill disposal)
25 3. vlldR (Composting)

o 4. ails20L (Incineration)

Question ID : 630680653404
Option 1 1D : 6306802558055
Option 2 ID : 6306802558054
Option 3 1D : 6306802558057
Option 4 ID : 6306802558056
Status : Answered
Chosen Option : 4

A A n

Q.126 olitlstu-AL Miogs2ui, €+ [AeangL ealld © 5 HSI--L citsi Wi A182 AUR sAl-0L vl (e ARA
H122 200 euRdl 30 . oxl A2 Hiu 30 {22 el 40 {22 S, dl A2 AR 5L gA
wf S2dii 97
Ans " 1.240,000 301
/< 2.300,000 300t
25 3.480,000 300t

< 4.600,000 3

Question ID : 630680653389
Option 1 ID : 6306802557994
Option 2 ID : 6306802557995
Option 3 1D : 6306802557996
Option 4 ID : 6306802557997
Status : Answered
Chosen Option: 1

Q.127 MR-zl 55 A (CUleS01 321 Rireu viit 53 EQUSTALAL GlitsIH-L UITF 52U HI2 AUR S
Al B?

Ans X 1. BREEAM ((cieslol R4l 2R2i(otii-2 Bi-au-iied 22 Has)
o 2. s A1) 221 RireH (HERS) (Home Energy Rating System)
25 3. LEED (clls22llu €1 229 s grclizil2¢et S\oles-)

X 4. 30l 2dlext (Green Globes)

Question ID : 630680653351
Option 11D : 6306802557843
Option 2 ID : 6306802557845

Option 31D :
Option 41D :
Status :

Chosen Option :

6306802557842
6306802557844
Answered

2




undergo controlled deformation during an earthquake without collapsing?

Ans X 1. Brittle design
/< 2. Plastic design
& 3. Ductile design

/5 4. Elastic design

Q.128 In seismic engineering, which structural design concept aims to ensure that a building can

Question ID : 630680653354
Option 1 ID : 6306802557857
Option 2 ID : 6306802557855
Option 3 ID : 6306802557856
Option 4 ID : 6306802557854
Status : Answered
Chosen Option: 3
Q.129 What is a common effect of earthquakes on buildings in seismic engineering and disaster
management?
Ans  # 1. Structural damage and collapse
#5 2. Increased structural stability
75 3. Strengthening of load-bearing walls
#< 4. Foundation sinking
Question ID : 630680653361
Option 1 ID : 6306802557885
Option 2 ID : 6306802557882
Option 3 ID : 6306802557884
Option 4 ID : 6306802557883
Status : Answered
Chosen Option : 1
Q.130 DAzl 53 (Aetit Rl eAiesHui [Claya- il SHeAA a3l dglddd] AlssA ARl 53 8?
Ans o 1. [Clayi 21 QglEriall Aaddl 4552 g0l 8, BUR BHERIA 2 (Gl 244 Wgll watdl
8131 8, o3+l GuAPL ERNAR RctlAL GESIHHT GULE-SR RS A 8.
25 2. Gyl A SERALvSSIHE oldl Hog §ERCl Ul[EHR 8, R sHet- 2 JAAUELS UBURAL GIRL
Beulltet 5B WUCR 8, ol GUIDL Rl cielstHHl ClLES-5R RS Asolontl cled A 8.
X 3. [Claya 2 S1HR-AL 25 USR B 931 24 SAMT 24Ld & 24 2RM (L SHR (HMA) ettlalall Hi2
3Bt (aggregates) A1 B s A1 8, AR UALE] (Hs16L A 55 (IR SIHR A3 & o
ARASAA eI 2RH 5l 3R 2L,
X 4. Gy 2 g5 2ed Retg (ol Ualdl 24sdelRl 8, iR gHeRl 2 AS AR AU [aSA=Y 12
(@lde GARBI A2 (G-l Fsigiel eiddl Ass2 uelel 8.
Question ID : 630680653372
Option 1 ID : 6306802557926
Option 2 ID : 6306802557929
Option 3 ID : 6306802557928
Option 4 ID : 6306802557927
Status : Answered
Chosen Option : 4




Q.131 In the California Bearing Ratio (CBR) test, what is the significance of the ratio obtained at
2.5 mm penetration depth?

Ans  # 1.1t correlates with the soil's strength at higher penetration depths.
< 2. Itindicates the maximum dry density of the soil.
< 3. It represents the cohesion of the soil.

/5 4. It reflects the soil's compressibility and deformation characteristics.

630680653331
6306802557765
6306802557763
6306802557762
Option 4 ID : 6306802557764
Status : Answered
Chosen Option : 4

Question ID :
Option 11D :
Option 21D :
Option 31D :

Q.132 In pavement construction, what is the major role of the subbase layer?
Ans X 1. The subbase layer functions as a stress absorber, dispersing dynamic loads and
preventing fatigue cracking in the pavement.
< 2. The subbase layer makes the pavement more resistant to environmental degradation,
such as freeze-thaw cycles and chemical damage, extending its service life.
& 3. The subbase layer adds structural support and distributes heavy loads evenly
throughout the pavement, lowering the likelihood of rutting and deformation.
< 4. The subbase layer acts as a barrier, preventing moisture from migrating upward from
the underlying subgrade into the pavement.

630680653375
6306802557939
6306802557941
6306802557940
Option 4 ID : 6306802557938
Status : Answered
Chosen Option : 3

Question ID :
Option 11D :
Option2 1D :
Option 31D :

Q.133 56 epare{ora Raues w2 AlAmizdl & ugld-Al AU Ad GUUPL Al =01?

Ans X 1. usldad doudl (Percolation ponds)
X 2. v RAeF (Recharge trenches)
¥ 3. WORRAR B2lsq (Aquifer depletion)

X 4. 898521 gl (Injection wells)

630680653334
6306802557775

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306802557777
6306802557776
6306802557774
Answered

3




Ans

«" 1. Passive energy dissipation systems

< 2. Moment-resisting frames

25 3. Tension ties
/X 4. Shear walls

Q.134 Which seismic engineering technique involves the installation of base isolators or dampers
to reduce the transmission of earthquake-induced forces to a structure?

Question ID : 630680653353
Option 11D : 6306802557852
Option 2 ID : 6306802557850
Option 3 1D : 6306802557853
Option 4 ID : 6306802557851
Status : Answered
Chosen Option : 2

Ans

/< 1. Ambient temperature
" 2. Moisture content of the soil

75 3. Construction equipment used

5 4. water table

Q.135 Which of the following factors has the most significant impact on the compaction of soil in
construction projects?

Question ID : 630680653329
Option 1 1D : 6306802557755
Option 2 ID : 6306802557757
Option 3 1D : 6306802557756
Option 4 ID : 6306802557754
Status : Answered
Chosen Option: 2

Ans

¥ 1. Methane (CH,)
/< 2. Carbon monoxide (CO)

& 3.0zone (03)

7< 4. Sulfur dioxide (SO,)

Q.136 Which of the following pollutants is associated with both air pollution and pollution due to
solid waste?

Question ID : 630680653344
Option 11D : 6306802557815
Option 2 ID : 6306802557814
Option 31D : 6306802557817
Option 4 1D : 6306802557816
Status : Answered
Chosen Option : 1




Q.137 Al shds2A- Sles 238, YEEuR 3(R1E 3ow-il GualidL sl walils &4 gj 87
Ans X 1. ol HisctH s Bl S5l sdl.

25 2. oMl Glo gL HAL

o 3. ol siRid s3et sllseil (530l yeuis sdl.

25 4. o{l guistl GuRU el .

Question ID : 630680653327
Option 1 ID : 6306802557747
Option 2 ID : 6306802557746
Option 3 ID : 6306802557748
Option 4 ID : 6306802557749
Status : Answered
Chosen Option: 3
Q.138 What elements are important for effectively forecasting material transportation costs in
construction projects?
Ans X 1. The reputation of the material supplier, the quality of the materials, and the proximity
of alternative suppliers.
/< 2. The availability of construction workers, the project timeline, and the architectural
complexity of the design.
&" 3. The mode of transport, the distance travelled, and the timing constraints for delivery.
X 4. The weight of the materials, the distance to the construction site, and the type of
vehicle used for transport.
Question ID : 630680653388
Option 11D : 6306802557992
Option 2 ID : 6306802557991
Option 3 ID : 6306802557993
Option 4 ID : 6306802557990
Status : Answered
Chosen Option: 1
Q.139 In road construction, what is the purpose of a dowel bar used in joint construction?
Ans X 1.To provide stability to the concrete mixture
&" 2. To facilitate movement between adjacent pavement slabs
/< 3. To prevent water infiltration into the pavement layers
/X 4.To increase the load-bearing capacity of the pavement
Question ID : 630680653371
Option 11D : 6306802557925
Option 2 ID : 6306802557924
Option 31D : 6306802557923
Option 4 1D : 6306802557922
Status : Answered
Chosen Option : 4




Q.140 DAzl 5€ Hi-ta UG (R ADRAL 2 ARAARUAT ¥ UEHRIAL WRARLS At B?

Ans o 1. 2B sieruel [@Ruos- (Industrial wastewater discharge)
X 2. el epaleforan uq (Natural groundwater seepage)
75 3. Wl dlawst (Soil erosion)

5 4. s sizvioa(Marine debris)

Question ID : 630680653342
Option 11D : 6306802557808
Option 2 ID : 6306802557809
Option 3 ID : 6306802557806
Option 4 ID : 6306802557807
Status : Answered
Chosen Option: 1
Q.141 Y[R Ai(@s dz (MSW)ui -4 Ad asial Haedl [Ci--cliiif53130id ves dAS QRA-uniall
sl 5UA @il saAmi 21d 8?
Ans X 1.sPl0 244 s18edlS
X 2.8 (ot 244 A (5alic (Yard trimmings and grass clippings)
o 3. wlRes olled 214 U5 (oL Ul
X 4. Asdln 214 5B sAA (Food scraps and organic waste)
Question ID : 630680653396
Option 11D : 6306802558023
Option 2 ID : 6306802558024
Option 31D : 6306802558025
Option 41D : 6306802558022
Status : Answered
Chosen Option : 3
Q.142 -QlA-iadl sUl 5AA AU Add AAoFRAL SAUAU Tl HA B?
Ans X 1. gdszlls s
X 2. astupdl el
25 3. aligsimg eor
o 4. 5P A s186llS
Question ID : 630680653405
Option 1 ID : 6306802558061
Option 2 ID : 6306802558059
Option 3 ID : 6306802558058
Option 4 ID : 6306802558060
Status : Answered
Chosen Option : 4




8?
Ans X 1.103ls (Subgrade)
& 2. o sl (Base course)
< 3. 402524 s (Surface course)

< 4. uoel» (Subbase)

Q.143 UsiAlAL MR+ (AARWL 5l H1Z A AWA AL iR 25T UL HI2 AS U2l §Y R FFAIAHER

Chosen Option :

Question ID : 630680653376
Option 1 ID : 6306802557945
Option 2 ID : 6306802557943
Option 3 ID : 6306802557944
Option 4 ID : 6306802557942
Status : Answered
Chosen Option : 1
Q.144 Which of the following materials is commonly found in commercial waste?
Ans " 1. Food packaging
#< 2. Hazardous chemicals
25 3. Construction debris
/X 4. Electronic waste
Question ID : 630680653400
Option 11D : 6306802558041
Option 2 ID : 6306802558038
Option 3 ID : 6306802558040
Option 4 ID : 6306802558039
Status : Answered
Chosen Option: 1
Q.145 What technology is widely utilized in sophisticated surveying procedures to generate
detailed 3D models of terrain?
Ans & 1. LiDAR (Light Detection and Ranging)
/X 2. Digital cameras
75 3. Mechanical theodolite
75 4. Magnetic compass
Question ID : 630680653411
Option 1 ID : 6306802558085
Option 2 ID : 6306802558082
Option 3 ID : 6306802558084
Option 4 ID : 6306802558083
Status : Answered

1




HA Al WL sl HI2 ARl 52¢] dd-t ag Ysddg usA?

Q.146 o1 SI65 5121522 UIoEs2 HI2 10 SIMEIRL AV B WA AH- g $5000+ det- Ysd B, 214 uehlall A+
vyl 2414 B 5 d %5 Uio¥se HIZ2 d-l ag 5 SIHEIRL Avid-{l 3R B, cll -all SIMEIRIA UM €3 aadR

Ans X 1.$3500
25 2.$3000
75 3.$2000
" 4. 52500
Question ID : 630680653391
Option 1 1D : 6306802558005
Option 2 ID : 6306802558004
Option 3 1D : 6306802558002
Option 4 ID : 6306802558003
Status : Answered
Chosen Option : 4
Q.147 NA-uizll 5y gecll Raru-Ada1(ecosystem)] s 12012
Ans X 1. Guedlsdl
o 2. SRUIHRAL
25 3. (e sARL
< 4. Geulest
Question ID : 630680653339
Option 1 ID : 6306802557795
Option 2 ID : 6306802557796
Option 3 ID : 6306802557797
Option 4 ID : 6306802557794
Status : Answered
Chosen Option : 2
Q.148 Which of the following factors is NOT typically considered during the initial stage of
highway planning?
Ans X 1. Environmental impact
X 2. Right-of-way acquisition
¥ 3. Pavement design
5 4. Traffic volume
Question ID : 630680653368
Option 11D : 6306802557911
Option 2 ID : 6306802557912
Option 3 1D : 6306802557913
Option 4 ID : 6306802557910
Status : Answered
Chosen Option : 3




Q.149 What is the primary purpose of obtaining environmental clearance for a proposed project?
Ans X 1.To ensure the project is financially viable

5 2. To expedite the construction process
#< 3. To secure additional funding for the project

¥ 4. To assess and minimize potential environmental impacts

Question ID : 630680653349
Option 1 1D : 6306802557834
Option 2 ID : 6306802557835
Option 3 ID : 6306802557837
Option 4 ID : 6306802557836
Status : Answered
Chosen Option : 4

Q.150 si$l2 daur2-il Al (GAeAQL 1 ASTRUAA ALl HIZ Rcll-Al citsHUL SUL USR-L Aid(joint)-
UL SAML U B?

Ans X 1.s-2s2l 95162 (Contraction joint)
o 2. 85U %1652 (Expansion joint)
< 3. vugRAdL w1852 (Isolation joint)

X 4. 522531 951652 (Construction joint)

Question ID : 630680653374
Option 1 1D : 6306802557934
Option 2 ID : 6306802557935
Option 3 1D : 6306802557937
Option 4 ID : 6306802557936
Status : Answered
Chosen Option: 1

Q.151 In what way does transportation infrastructure impact social equity and accessibility?

Ans X 1. By increasing segregation and isolation among communities
&" 2. By enhancing mobility and connectivity for all population segments
/< 3. By promoting unequal distribution of resources

#< 4. By limiting access to education and healthcare facilities

Question ID : 630680653369
Option 11D : 6306802557917
Option 2 ID : 6306802557916
Option 31D : 6306802557915
Option 4 ID : 6306802557914
Status : Answered
Chosen Option: 2




Q.152 el AT 3D AUR BRIl Huu ¢ 3] B?
Ans o 1. 2250 A2dl A-53WRA-L [$(FFed Hisd ol-ldal
X 2. 1R 2u a3 idRA Ul Ad Hiug,
25 3. Ae-218H 1A [CeduiL

X 4. gl as AR Sior SRR 5dl.

Question ID : 630680653415
Option 1 ID : 6306802558099
Option 2 ID : 6306802558098
Option 3 ID : 6306802558100
Option 4 ID : 6306802558101
Status : Answered
Chosen Option: 1
Q.153 ¢ sUA-I WARlLs 1id g B?
Ans X 1. &8s iadl
< 2. 12812 sAAA
o 3. 230lis ©l
X4 0B Ylaard
Question ID : 630680653401
Option 1 ID : 6306802558045
Option 2 ID : 6306802558043
Option 3 ID : 6306802558044
Option 4 ID : 6306802558042
Status : Answered
Chosen Option : 3
Q.154 DAzl 53 el 2iulALlEs s URd 2is ([ARre cargt +=01?
Ans X 1. A€, doudl 244 udll gl d-suis (Landmarks)
o 2. (asd-l Asel v d-s uRld g-s1H2i- (land parcel information)
25 3. 8lgR Al o8 (el 5R2$RL YU &
X 4. aRuldAL USRL 24 ol Gurlldl] adllset
Question ID : 630680653310
Option 11D : 6306802557679
Option 2 ID : 6306802557680
Option 31D : 6306802557678
Option 4 ID : 6306802557681
Status : Answered
Chosen Option : 1




Q.155 Which of the following artificial groundwater recharge methods involves the creation of
underground dams or barriers to intercept and infiltrate surface water into the aquifer?

Ans X 1. Aquifer storage and recovery (ASR)
¥ 2. Subsurface dams
25 3. Injection wells

/X 4. Recharge trenches

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 630680653335

: 6306802557780
: 6306802557781
: 6306802557778
: 6306802557779

Status : Answered

Chosen Option: 1

population centers?
Ans X 1.Expressways

/X 2. Local roads
/< 3. Collector roads
¥ 4. Arterial roads

Q.156 Which classification of roads typically serves as the primary link between cities and major

Question ID : 630680653366
Option 1 ID : 6306802557905
Option 2 ID : 6306802557902
Option 3 ID : 6306802557903
Option 4 ID : 6306802557904
Status : Answered
Chosen Option : 1
Q.157 If the daily wage of a worker is $100 and the worker is paid double wages for working on
Sundays, what will be the total wage of the worker for working 4 Sundays in a month?
Ans & 1.3800
25 2.81600
25 3.81200
< 4.$2800
Question ID : 630680653394
Option 11D : 6306802558014
Option 2 ID : 6306802558017
Option 3 1D : 6306802558016
Option 4 ID : 6306802558015
Status : Answered

Chosen Option : 1




focusing on both precision and accuracy?
Ans X 1.Indian National Cartographic Association (INCA)

Z< 2. National Remote Sensing Centre (NRSC)
& 3. Survey of India (SOI)
#< 4. Indian Cartographic Society (ICS)

Q.158 Which organization is primarily responsible for cadastral and topographic mapping in India,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653313
6306802557690
6306802557691
6306802557692
6306802557693
Answered

1

U[ASRA dtlRal HI2 AR B?
Ans o 1. SRBl2d R\ RY-5RIA GIR (218 ellH) g-22let 539
X 2. 8-sIUR[aL alese BsAU-RIA T2
25 3. viggadl (flexibility) detRell #i2 ag el (windows) GrRdl

X 4. R gaisal W2 Eadi-) assie eetsdll

Q.159 ¢{5U-Y§ ARLARSIH [, NA-unizll 58 HoweldlsWL ds-Is-l Gualial du-L o5l (seismic)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653364
6306802557896
6306802557895
6306802557894
6306802557897
Answered

1

Q.160 Rifact A (= [AuRA1 vioaszuHi durldl 2518 olittsii AR AU BELSAL 3] B?
Ans X 1.PVCuwsul

5 2. s €l€R (Asphalt shingles)
X 3. 5B 34 (Synthetic fibres)

o 4. RAsA 534 Rd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653413
6306802558090
6306802558091
6306802558093
6306802558092
Answered

3




Q.161 What is the main distinction between linear and areal scales in map preparation?

Ans & 1. Linear scales measure distances, while areal scales measure areas.

#< 2. Linear scales depict elevation variations, whereas areal scales show vegetation
density.

/< 3. Linear scales are expressed as ratios, whereas area scales are expressed as
fractions.

/X 4. Road maps are scaled linearly, whereas topography maps are scaled aerially.

Question ID : 630680653317
Option 1 1D : 6306802557706
Option 2 ID : 6306802557708
Option 31D : 6306802557709
Option 4 1D : 6306802557707
Status : Answered
Chosen Option : 4

Q.162 5L USR] %F52AA/B-2AUSAA VAIN-WAIN R A YuU Rl 511 5A, RAUSH2A-A (AL Y5l
UGl Attt 2UlEs- Mo 2 8.

Ans X 1.°2lvus (Roundabout)
X 2. -2 4521 (T-intersection)
o 3. 3As-AuU2s ©-2:A-95 (Grade-separated interchange)

25 4. siis 82239 (Diamond interchange)

Question ID : 630680653379
Option 1 ID : 6306802557954
Option 2 ID : 6306802557957
Option 3 ID : 6306802557956
Option 4 ID : 6306802557955
Status : Answered
Chosen Option : 3

Q.163 Which method is commonly used for calculating the area of irregularly shaped land parcels
on a map?

Ans X 1. Trigonometric estimation
/5 2. Linear interpolation
/X 3. Grid overlay analysis

" 4. Planimeter measurement

Question ID : 630680653319
Option 11D : 6306802557715
Option 2 ID : 6306802557714

Option 31D :
Option 41D :
Status :

Chosen Option :

6306802557717
6306802557716
Answered

4




expansion and contraction?

Ans X 1. Jointed Plain Concrete Pavement (JPCP)
/X 2. Prestressed Concrete Pavement (PCP)
/< 3. Continuously Reinforced Concrete Pavement (CRCP)

" 4. Jointed Precast Concrete Pavement (JPCP)

Q.164 Which type of pavement is characterized by the use of precast concrete panels or slabs with
joints filled with a flexible material like asphalt or rubber to accommodate thermal

Question ID : 630680653377
Option 1 1D : 6306802557947
Option 2 ID : 6306802557948
Option 31D : 6306802557946
Option 4 ID : 6306802557949
Status : Answered
Chosen Option : 4
Q.165 What is the main objective of creating elevation drawings in surveying?
Ans " 1. To document the precise elevations of various points in the surveyed area
#5 2. To produce visually appealing representations of the examined region.
75 3. Create contour maps of the surveyed region.
/< 4. Estimate the total area of the surveyed land.
Question ID : 630680653297
Option 1 ID : 6306802557627
Option 2 ID : 6306802557626
Option 3 ID : 6306802557629
Option 4 ID : 6306802557628
Status : Answered
Chosen Option : 2
Q.166 ASA (AARNMI SUA- AAE] 2l 4S5l 5l duid sUL URHNA UL Add LML A
wag dl?
Ans X 1. [Fislel A2 12 2idR (Distance to disposal sites)
< 2. Uel Acl SAUAAL USRI
o 3. saAi4 URRA(A (Weather conditions)
25 4. el o0l
Question ID : 630680653407
Option 1 1D : 6306802558069
Option 2 ID : 6306802558067
Option 3 ID : 6306802558068
Option 4 ID : 6306802558066
Status : Answered
Chosen Option : 4




UEMBL ¢id A1e sy B?
Ans o 1. cls (Pb)
X 2. slol sRlsAESs (CO 5)
25 3. 2i(som (02)

X 4. As2ion-t (N2)

Q.167 Azl 53 ugHs A=A Ad 2UUBLS 2 AAUAUGLS SURAA SIRQL o UEHRL 24 il

Question ID : 630680653343
Option 11D : 6306802557811
Option 2 ID : 6306802557810
Option 3 1D : 6306802557812
Option 4 ID : 6306802557813
Status : Answered
Chosen Option: 1
Q.168 I+t 14), sARLl sl ©2s d-l estvidl ugld 2 A€ wularellu RUAA sREL Fsta-l ol
il izl ussk Gl 53 87
Ans & 1. 5ds2l(-is 52 (S-d=2) (Electronic waste (e-waste))
5 2. siul izl 244 5722
25 3. olll3330te 5B s2RA (Biodegradable organic waste)
X 4. sl uA s186lls
Question ID : 630680653397
Option 11D : 6306802558028
Option 2 ID : 6306802558029
Option 31D : 6306802558026
Option 4 1D : 6306802558027
Status : Answered
Chosen Option : 1
Q.169 How does a high water table influence soil carrying capacity?
Ans X 1.lItincreases bearing capacity because the earth is more compacted.
" 2. It reduces bearing capacity because to higher pore water pressure.
/< 3.1t boosts bearing capacity due to improved soil cohesiveness.
/5 4.1t has no substantial impact on bearing capacity.
Question ID : 630680653321
Option 1 ID : 6306802557722
Option 2 ID : 6306802557723
Option 3 1D : 6306802557725
Option 4 1D : 6306802557724
Status : Answered
Chosen Option : 2




Hudwi 296l oja-l 2staidl dedl 8?
Ans X 1.0.045

Q.170 is HiowRleR 2s wileq &ign 400 ARU Hl2 HIU B. ¥l diRe(As [EReAR 420 AlRA {l2R S, dl

Chosen Option :

< 2.004
75 3.0.05
o 4.0.0476
Question ID : 630680653386
Option 1 ID : 6306802557984
Option 2 ID : 6306802557985
Option 3 ID : 6306802557982
Option 4 ID : 6306802557983
Status : Answered
Chosen Option : 4
Q.171 What is the primary environmental concern associated with improper disposal of e-waste?
Ans X 1. Soil erosion
#< 2. Noise pollution
& 3. Air pollution
/5 4. Water contamination
Question ID : 630680653402
Option 1 ID : 6306802558046
Option 2 ID : 6306802558049
Option 3 ID : 6306802558047
Option 4 ID : 6306802558048
Status : Answered
Chosen Option : 4
Q.172 Who typically grants Technical Sanction for construction projects?
Ans  # 1. Government regulatory authority
X 2. Local municipality
#< 3. Civil engineer
/X 4. Project owner
Question ID : 630680653385
Option 11D : 6306802557981
Option 2 ID : 6306802557978
Option 3 ID : 6306802557980
Option 4 ID : 6306802557979
Status : Answered

1




Q.173 efsu-ll dlsictt A Ad Sl Ad AsS) s 21 &?
Ans X 1. 5l (Fujita) el GuldL sA4
75 2. oysle (Beaufort) 5@l GualdL 5A
25 3. ABR-Ruu- (Saffir-Simpson) 5l GuldL sl

o 4. 2522 (Richter) 35a-l GulaL 53

Question ID : 630680653356
Option 11D : 6306802557863
Option 2 ID : 6306802557864
Option 3 1D : 6306802557865
Option 4 ID : 6306802557862
Status : Answered
Chosen Option : 4

Q.174 2ilaulEs sl auRIAd s1-g2R B-224d (contour interval)ui oxl €35 s1-32R @l 10 {12+l
Bugui $28R eld, dl Al ie-l o SI-g1R Al 24 T2 cllfd o S1-g2R US4
Ji([Adad aA- dglad 324l 8?

Ans X 1.75
X 25
X 3.0
o 4.10

Question ID : 630680653302
Option 11D : 6306802557647
Option 2 ID : 6306802557646
Option 3 1D : 6306802557648
Option 4 ID : 6306802557649
Status : Answered
Chosen Option : 4

Q.175 20 [GieSTat-l (3anes-t 24 ediersiui DAl 53y Wi A-U Ad -l dani tag -=1?
Ans X 1. 251G gl Guallal

o 2. v slol Betost
27X 3. Goul siiatdl

X 4. AdlH 25l AM1dRL

Question ID : 630680653350

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306802557839
6306802557841
6306802557838
6306802557840
Answered

2




Ans

Q.176 DAzl si di-ld ugFdia s1RELYvA uuialla A3RUL AL 21 8?

o 1. at-lgg)
X 2. HSRUPR ¢
75 3. ooyl [ARsle

25 4. gedl @patell Al 24

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680653341
6306802557804
6306802557805
6306802557802
6306802557803
Answered

1

Ans

maps into different categories?
< 1. Amount of information and projection

#X 2. Scale and projection
«# 3. Scale and purpose

#< 4. Projection and conventional signs

Q.177 It is essential to pay more regard to which of the following two things while classifying

Chosen Option :

Question ID : 630680653314
Option 1 ID : 6306802557694
Option 2 ID : 6306802557696
Option 3 ID : 6306802557695
Option 4 ID : 6306802557697
Status : Answered
Chosen Option : 3
Q.178 100 kPa-ll 2iulioss A5t 244 200 kPa-il A% cls tddl al-ui, Yo aigl As- sl
&4l 300 kPa 2@t 2414 8. o1 oA+l 24eR Wil 2R ad, dl AUAUBIRS QL 50% ©21d 8,
ol kPa Hi iellGrd A erfel A sl &tudl S2l H?
Ans  # 1.250
% 2.300
% 3.200
X 4.400
Question ID : 630680653323
Option 1 ID : 6306802557730
Option 2 ID : 6306802557732
Option 3 ID : 6306802557731
Option 4 ID : 6306802557733
Status : Not Answered




8?
Ans X 1. :dedeagl 20ld agRaHR
< 2. sl (@812 qaRal 12
75 3. A58 gt WA saL @

o 4.21el 2 ds2: (vectors)- gelsdl Hi2

Q.179 €l SURN-L cdeRANAMI, oitl s Y(dul(enclosed storage facility) Baae- sal-ll walis &4 g

Question ID : 630680653409
Option 1 ID : 6306802558077
Option 2 ID : 6306802558075
Option 3 ID : 6306802558076
Option 4 ID : 6306802558074
Status : Answered
Chosen Option: 2
Q.180 What does the term "P&M" stand for in rate analysis?
Ans X 1. Production and Maintenance
¥ 2. Plant and Machinery
Z< 3. Planning and Management
/5 4. Procurement and Materials
Question ID : 630680653390
Option 1 ID : 6306802558001
Option 2 ID : 6306802557999
Option 3 ID : 6306802557998
Option 4 ID : 6306802558000
Status : Answered
Chosen Option: 3
Q.181 LiDAR (cttgS2 (52521t 21 3(=5a1) Rullz AL 4 s1-g2R HiowRlA cdtell NA-Aniall sul ele
AR B?
Ans X 1. LiDAR Rul2 A(RidL 51322 A HIowRll scll 4891 AAle 2A(Ed2i $21 Beur 52 8.
o 2. LIDAR Rul2 (i1 2 2012 oparetui ugt 2A(@det et dardl 215 8, o uURAdLd s1gR
HlowllAl el cllc R e 5 A8 8.
< 3. LIDAR Rul2 A(Ria1 2 R alealell gsidetl 22101l 4al A3 AlAdRi 32t usiuld) sq el
75 4. LiDAR Rz Aot 2 Hlal-uri-L 2oL logset HIZ S 2G5 8, IR 1R HIowRll Al-l-
YR ARESAU HIR ag AU 8.
Question ID : 630680653303
Option 1 ID : 6306802557650
Option 2 ID : 6306802557652
Option 31D : 6306802557653
Option 4 ID : 6306802557651
Status : Answered
Chosen Option : 4




Q.182 e1Retui 2ulALlss - 3522 A5 ot-tdall 2 DA sUl HUlSHLAL v 2lid §?
Ans X 1. 2{lu-22l21u (OpenStreetMap)

75 2. axdl Q1L 35181 (Census Records)
o 3. ud s S(ZUL (Survey of India)
X 4.3p1d 1RY (Google Maps)

Question ID : 630680653312
Option 11D : 6306802557689
Option 2 ID : 6306802557687
Option 31D : 6306802557688
Option 4 1D : 6306802557686
Status : Answered
Chosen Option: 3
Q.183 Which of the following types of soil failure is commonly associated with shallow
foundations on cohesive soils?
Ans X 1.tensile failure
75 2. deep shear failure
#< 3. general shear failure
¥ 4. local shear failure
Question ID : 630680653324
Option 1 1D : 6306802557737
Option 2 ID : 6306802557736
Option 3 1D : 6306802557735
Option 4 ID : 6306802557734
Status : Answered
Chosen Option : 3
Q.184 Choose the incorrect option regarding total station.
Ans X 1. Total station is a combination of theodolite and electronic distance measurement
¥ 2. It operates by directing laser beams towards an object and detecting the light that
returns.
#< 3. Using a total station, a topographic survey referred to as a "total station survey"
calculates angles and separations from fixed ground reference points.
Z< 4. Making maps and conducting surveys are their main uses.
Question ID : 630680653296
Option 1 1D : 6306802557623
Option 2 ID : 6306802557625
Option 31D : 6306802557622
Option 4 1D : 6306802557624
Status : Answered
Chosen Option : 1




Q.185 What are the advantages of reusing fly ash in construction projects?
Ans X 1. Higher construction costs

#5 2. Increased environmental pollution

75 3. Lower structural strength

" 4. Lower demand for natural resources

Question ID : 630680653412
Option 1 ID : 6306802558088
Option 2 ID : 6306802558086
Option 3 ID : 6306802558089
Option 4 ID : 6306802558087
Status : Answered
Chosen Option : 4
Q.186 What does budget provision refer to in the context of rate analysis?
Ans X 1. Determining the profit margin for the contractor
#< 2. Setting aside funds for unforeseen expenses
#5 3. Calculating the cost of labor and materials
&" 4. Allocating funds for project implementation
Question ID : 630680653384
Option 1 ID : 6306802557976
Option 2 ID : 6306802557974
Option 3 ID : 6306802557977
Option 4 ID : 6306802557975
Status : Answered
Chosen Option: 3
Q.187 Azl 5y Qe uRas- w(Fs(FuRo1 &3 uReasH w1981 AdIRIAL A 2ivs Ad agld 8?
Ans X 1. uRdsA llor AAARNAL &g 2 dcdiid URAsA Hiow-l R[] yeuis s2elg 244 gl
Ul AUASHL 3R S1U Al [ARARIA AUl .
252, uRde 2Ar{ler ARl R Wi sl uulaRlU 2407 Heuis s2dl 4 sl 3Rlal,
e[ UgNEL 24 (et ol AeilEid (Rl e YFBdd sal 1@ sai 2404 9.
o 3. URasH rdler AR e1U(d uRcts r3RULAIAL UEL 52l 244 diott -l Al
(AsAtaal 12 2105 Ued, ddl 244 adl [, @il Gualal 243 241 UReitl [Aednel A 8.
X4 Rl Al YEURAL 24 AHUSHRLAL TUHIA Bl2LS el UdLe] AHEHT 3sal HI2 Rt R
2 2155 UsULCL 2L S2L A5 Bict 5l I URA S {19 ALRIQM sl LRl 241d D,
Question ID : 630680653370
Option 1 ID : 6306802557918
Option 2 ID : 6306802557920
Option 3 ID : 6306802557921
Option 41D : 6306802557919
Status : Answered
Chosen Option: 2




Q.188 In solid waste management, what is the purpose of segregation at the source?
Ans X 1.Recycle of Electronic waste

/X 2. Redtilization of Paper waste

75 3. Reuse of Plastic waste

of waste.

¥ 4. It enables recycling, reuse, treatment and scientific disposal of different components

Question ID : 630680653408
Option 1 ID : 6306802558072
Option 2 ID : 6306802558073
Option 31D : 6306802558071
Option 4 1D : 6306802558070
Status : Answered
Chosen Option : 4
Q.189 Which of the following statements truly explains how biomedical waste is classified based
on its potential risk?
Ans X 1.Biomedical waste is classified according to its source, which includes hospital,
laboratory, and pharmaceutical waste.
¥ 2. Biomedical waste is grouped into four categories: sharp waste, pathological waste,
infectious waste, and pharmaceutical waste, based on its specific characteristics and
disposal requirements.
/5 3. Biomedical waste is divided into three types: infectious, non-infectious, and
hazardous, depending on its potential to affect human health or the environment.
/X 4. Biomedical waste is classified according to its physical features, such as size, shape,
and texture.
Question ID : 630680653399
Option 1 1D : 6306802558036
Option 2 ID : 6306802558037
Option 3 1D : 6306802558035
Option 4 1D : 6306802558034
Status : Answered
Chosen Option : 2
Q.190 s 5121522 Clitls-AL MIoFs2 HI2 dgil-l (Bud $8000 $lall-l Vielos Y5 ©. ol Wit €16 vil
ARyl VAL 15% © 24 Sl HUGEA e WAL 20% S, ol HIRIRA €16 Wi -AgL AlEd gt vl S2dll
8?
Ans X 1.$8800
o 2. 512240
/< 3.811200
< 4.810400
Question ID : 630680653387
Option 1 1D : 6306802557989
Option 2 ID : 6306802557988
Option 3 1D : 6306802557986
Option 4 1D : 6306802557987
Status : Answered
Chosen Option : 4




their continued effectiveness in mitigating seismic risks?

Ans X 1.Installation of decorative features to enhance aesthetics
/5 2. Periodic application of waterproofing sealants
& 3. Inspection and repair of cracks and damaged areas

/5 4. Regular repainting of exterior walls

Q.191 What is a crucial aspect of maintaining earthquake-resistant masonry structures to ensure

Question ID : 630680653365
Option 11D : 6306802557901
Option 2 ID : 6306802557899
Option 3 ID : 6306802557900
Option 4 ID : 6306802557898
Status : Answered
Chosen Option : 4
Q.192 Which of the following is a key feature in the construction of earthquake-proof masonry
structures?
Ans X 1. Minimizing the use of mortar between bricks
#X 2. Increasing the height of the building for added stability
&« 3. Incorporating reinforced concrete columns and beams
#< 4. Using flexible materials for building construction
Question ID : 630680653362
Option 11D : 6306802557888
Option 2 ID : 6306802557889
Option 3 ID : 6306802557887
Option 4 1D : 6306802557886
Status : Answered
Chosen Option : 4
Q.193 Which of the following surveying methods uses satellites for positioning?
Ans " 1. GPS surveying
#< 2. Chain surveying
25 3. Aerial surveying
/5 4. Compass surveying
Question ID : 630680653298
Option 1 ID : 6306802557633
Option 2 ID : 6306802557630
Option 3 ID : 6306802557632
Option 4 ID : 6306802557631
Status : Answered
Chosen Option: 1




Ans

Q.194 & SAAAL AN WEAWH, 8 5UJA URAS sUT UL DUV SUT AHA A1 B?

o 1. d-slse (Landfill)
25 2. ewxleqd (Incinerator)
X 3. HsRPRAUL [Fstd

X4 RuulseEd ylaa

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680653410
6306802558078
6306802558080
6306802558081
6306802558079
Answered

1

Ans  # 1. Degrees
X 2. Gradians
/< 3.Radians
X 4. Minutes of arc

Q.195 What is the most frequent angle measuring unit when using a theodolite?

Question ID : 630680653300
Option 11D : 6306802557640
Option 2 ID : 6306802557638
Option 3 ID : 6306802557639
Option 4 D : 6306802557641
Status : Answered
Chosen Option : 1
Q196 Choose the correct pair from the both sets:
(a) ISO 14010 | (i) Environmental auditing
(b) ISO 14020 | (ii) Environmental aspect in product standard
(c) ISO 14050 | (iii) Environmental labelling standard
(d) ISO 14060 | (iv) environmental terms and definitions
Ans X 1. (a)- (iv); (b) - (iii); () - (i); (d) - (i)
o 2.(a) - (i); (b) - (iii); (c) - (iv); (d) - (i)
X 3.(a)- (); (0) - (ii); (c) - (iv); (d) - (iii)
75 4. 4.(a) - (iv); (b) - (ii); (c) - (iii); (d) - (i)
Question ID : 630680653346
Option 11D : 6306802557823
Option 2 ID : 6306802557824
Option 3 ID : 6306802557822
Option 4 D : 6306802557825
Status : Answered
Chosen Option: 2




Q.197 What role do smart roads play in increasing transport efficiency?
Ans & 1. Improve traffic flow and minimize travel time

/X 2. Use outmoded infrastructure.
75 3. Increase traffic congestion

5 4. minimize road safety

Question ID : 630680653414
Option 1 ID : 6306802558096
Option 2 ID : 6306802558097
Option 3 ID : 6306802558094
Option 4 ID : 6306802558095
Status : Answered
Chosen Option : 1
Q.198 Which scale is commonly used for detailed cadastral mapping in heavily populated parts of
India?
Ans X 1.1:50,000
< 2.1:100,000
& 3.1:10,000
< 4.1:1,000,000
Question ID : 630680653311
Option 11D : 6306802557685
Option 2 ID : 6306802557682
Option 3 ID : 6306802557683
Option 4 ID : 6306802557684
Status : Answered
Chosen Option : 3
Q.199 DAzl 5y [ER1daR VeI vl GelsWL B.
Ans X 1.218sd el
27X 2. dis 2i-s 81 2R242 (lock and key estimate)
< 3. gl=de vR2Me (intimate estimate)
o 4. YURA e1yd vl
Question ID : 630680653382
Option 1 ID : 6306802557967
Option 2 ID : 6306802557968
Option 3 ID : 6306802557969
Option 4 ID : 6306802557966
Status : Answered
Chosen Option : 4




[ I Y

Q.200 DAzl 53 uAlaRR-AL Hscad sivs Ad agld &?
Ans X 1. uu(aReL 2 HysU HIR HARASA 24 HARHHL 40t 8.
2 2. qulaRgL AR (s 21 sellcns wEeulset 12 Yrsef(H dR1S Aat 240 8.

< 3. wulaRgl 1 dstilts tgRie 2 Aple M sl .

o 4. uUlaREL I GUlaL HIZ AR1EAL YA WS 8 A Yool R et 2sldll v 8.

Question ID : 630680653338
Option 1 ID : 6306802557791
Option 2 ID : 6306802557793
Option 3 ID : 6306802557792
Option 4 ID : 6306802557790
Status : Answered
Chosen Option : 4
Q.201 In standard proctor test what is done for proper bonding between two layers while filling the
mould?
Ans X 1.tamping each layer 10 times
&” 2. scratch each layer after compacting
/< 3. adding water for bonding
X 4. keeping weight on the mould after filling it to bond properly
Question ID : 630680653330
Option 1 ID : 6306802557761
Option 2 ID : 6306802557758
Option 3 ID : 6306802557759
Option 4 1D : 6306802557760
Status : Answered
Chosen Option : 1
Q.202 What is the standard length of a surveyor's chain used in chain surveying?
Ans X 1.20 feet
< 2.30 feet
5 3. 56 feet
o 4. 66 feet
Question ID : 630680653299
Option 1 1D : 6306802557637
Option 2 ID : 6306802557635
Option 3 ID : 6306802557636
Option 4 ID : 6306802557634
Status : Answered
Chosen Option : 4




Ans

Q.203 geRdl (ecosystem)[Fau-tciauizdl Glovt addl wialis ulsul s¢ 8?

25 1. %A
X 2. [QaeA
X 3. [RIsR

o 4. UsRRisANEL

Chosen Option :

Question ID : 630680653340
Option 11D : 6306802557801
Option 2 ID : 6306802557799
Option 3 1D : 6306802557800
Option 4 ID : 6306802557798
Status : Answered
Chosen Option : 4
Q.204 Which of the following structures is most typically used to store rainwater collected from
rooftops in a rainwater harvesting system?
Ans X 1.Permeable pavements
/X 2. Check dams
#< 3. Fog collectors
o 4. Cisterns
Question ID : 630680653337
Option 1 1D : 6306802557787
Option 2 ID : 6306802557786
Option 3 1D : 6306802557789
Option 4 ID : 6306802557788
Status : Answered
Chosen Option : 3
Q.205 ) si-taaeu, o5l 1AL i+l BigR Uil 2R adl, ol WRll-t iR uld {12 adatell u-u Ad
{2l AsH 5l el S2all 251 82 8?
Ans X 1.20%
X 2.5%
2 3.15%
o 4.10%
Question ID : 630680653322
Option 11D : 6306802557729
Option 2 ID : 6306802557726
Option 3 1D : 6306802557728
Option 4 ID : 6306802557727
Status : Not Answered




Q.206 AlBe ol 2s-sui, 56 uglaui A sl WA Y-i(lime to clayey soils) GHRe-l
AudeL A B ol dudi-L BBy (FuRaL gLl Y Asiu?

Ans X 1.3[se B[22t (Chemical grouting)
o 2. Y] RuAs0L (Lime stabilization)
75 3. 8as-uRMIRRA (Electro-osmosis)

25 4. 0184 451 (Soil nailing)

Question ID : 630680653332
Option 1 ID : 6306802557769
Option 2 ID : 6306802557768
Option 31D : 6306802557766
Option 4 ID : 6306802557767
Status : Answered
Chosen Option : 4

Q.207 What interpolation method is often used in GIS to create contour maps from elevation data
points?

Ans 4 1.Kriging
/5 2. Thiessen polygons
/X 3. Buffering
< 4. Triangulated Irregular Network (TIN)

Question ID : 630680653304
Option 11D : 6306802557654
Option 2 ID : 6306802557656
Option 31D : 6306802557655
Option 4 1D : 6306802557657
Status : Answered
Chosen Option : 4

Q.208 What is the primary objective of the "dwell zone" while designing a signalized intersection?

Ans X 1.To allow for the storage of turning cars, hence minimizing queues on the mainline
approach.

X 2. To accommodate vehicles waiting at the stop line before passing through the
intersection.

&" 3. To improve safety and lessen the danger of accident, a buffer zone should be
established between opposing traffic streams.

X 4. To allow people to wait safely before crossing the intersection.

Question ID : 630680653380
Option 11D : 6306802557960
Option 2 ID : 6306802557959

Option 31D :
Option 41D :
Status :

Chosen Option :

6306802557961
6306802557958
Answered

3




Q.209 alielstu-AL Moz sl ddldd) 2oy dAaadi-l & 2j 8?
Ans X 1.0 [(Rlesl srdl-l

27X 2. cljgsiM SHERIA 15 Aval-l

o 3. dlogse-l AHEASWL 1L sl a1 YR (&t 4L

25 Aoz senl 516 Al 2a3u 21ual HiIzHL

Question ID : 630680653383
Option 1 ID : 6306802557973
Option 2 ID : 6306802557972
Option 3 ID : 6306802557971
Option 4 ID : 6306802557970
Status : Answered
Chosen Option: 3
Q.210 Al fis (seismic) AT RN 24 (531222 AAowi-2ui, S-51225U A AYERIL UR ligeli-l
BRARA 215l HIZHl Hud s g) B?
Ans X 1. adlui a1 2indl Hi2 WR(ESs Addll wueliA 142131l
o 2. 1Sl RAGRAMSAA YRl HIG sl sHRdl Rel(EaL (Retrofitting) s34
25 3. UM AS1QL UL (@Gl 1oL 5251 MlAH AL UL UR AALEIR AvCl
X 4. A6 (edl) Aetmel Fredd el dlel (@A Adl sHRd sliad
Question ID : 630680653360
Option 11D : 6306802557879
Option 2 ID : 6306802557878
Option 31D : 6306802557881
Option 41D : 6306802557880
Status : Answered
Chosen Option: 2




